

Abu Dhabi Road, Rahim Yar Khan

Tel: +92-68-9239122 Fax: +92-68-9239121 www.kfueit.edu.pk **RESULT INTIMATION** Program: BS English



Registration No. GCWAHUSS221101001

Date of Birth: 2005-01-19

Name: FATIMA TUZ ZAHRA Father's Name: KHURAM MANSOOR

Institute: Govt. Graduate College for Women, Rahim Yar Khan

FALL 2022						
Course Code	Course Title	Grade	Grade Point	Credit Hours	GPA Earned	
SSCI-1111	Introduction to Sociology	A	4.00	3	12.00	
PAKS-1113	Pakistan Studies	B+	3.30	2	6.60	
ENGL-1101	Study skills	A	4.00	3	12.00	
COSC-1105	Introduction to ICT	В	3.00	2	6.00	
COSC-1205	Introduction to ICT-Lab	A	4.00	1	4.00	
ENGL-1118	Functional English	A-	3.70	3	11.10	
MATH-1111	Mathematics-I	B+	3.30	3	9.90	
		SGPA	3.62	CGPA	3.62	

Fall 2023	Fall 2023							
Course Code	Course Title	Grade	Grade Point	Credit Hours	GPA Earned			
ENGL-2111	Technical Writing & Presentation Skills	A-	3.70	3	11.10			
ENGL-2109	History of English Literature-l	B+	3.30	3	9.90			
ENGL-2105	Introduction to ELT	A-	3.70	3	11.10			
ENGL-2104	Classical Poetry (from Chaucer to Pope)	В	3.00	3	9.00			
ENGL-2108	Classical and Elizabethan Drama	A-	3.70	3	11.10			
ENGL-2101	Introduction to Linguistics	A-	3.70	3	11.10			
		SGPA	3.52	CGPA	3.54			

Academic Deficiency:

1. Program Status:

(None / Warning / Probation / Separation / Internship / Withdrawal from the Program) Incomplete

2. Total Credit Hours to complete the program: 135

- 3. Credit Hours completed so far: 52 4 years
- 4. Duration of the Program:

7. University reserves the right to correct any inadvertent error.

Date of issue: 14 May 2024

- 1. Please check your Name and Father's Name including spellings and report to the Examination Department in case of any error.
- Discrepancies if any, are to be reported within 7 days of issue of this document.
 This is a computer generated report and does not need any signature. University reserves the right to correct any inadvertent error.

Spring 2023						
Course Code	Course Title	Grade	Grade Point	Credit Hours	GPA Earned	
ISLS-1112/ETI	0slannû c Studies/ Ethics	A	4.00	2	8.00	
ENGL-1119	Communication Skills	A	4.00	3	12.00	
MATH-1112	Mathematic-II	В	3.00	3	9.00	
PAKS-1122	International Relations	В	3.00	3	9.00	
ENSC-1101	Introduction to Environmental Sciences	В	3.00	3	9.00	
PHED-1110	Trauma and Rehabilitation	A	4.00	3	12.00	
		SGPA	3.47	CGPA	3.55	



Abu Dhabi Road, Rahim Yar Khan

Tel: +92-68-9239122 Fax: +92-68-9239121 www.kfueit.edu.pk **RESULT INTIMATION** Program: BS English



Credit Hours GPA Earned

7.40

9.90

9.00

6.90

6.90

11.10

3.26

Registration No. GCWAHUSS221101002 Date of Birth: 2003-11-18

3

3

3

3

3

CGPA

Grade Grade Point

3.70

3.30

3.00

2.30

2.30

3.70

SGPA 3.01

A٠

B+

в

C+

C+

A-

0shann12c Studies/

Communication

Mathematic-II

Introduction to

Environmental Sciences

Rehabilitation

Name: BAREERA ZAINAB Father's Name: ABDUL RAZZAQ

Institute: Govt. Graduate College for Women, Rahim Yar Khan

FALL 2022						Spring 2023		
Course Code	Course Title	Grade	Grade Point	Credit Hours	GPA Earned	Course Code	Course Title	
SSCI-1111	Introduction to Sociology	A-	3.70	3	11.10	ISLS-1112/ET	00s∦amln2c Stud Ethics	
PAKS-1113	Pakistan Studies	B-	2.70	2	5.40	ENGL-1119	Communicat Skills	
ENGL-1101	Study skills	A-	3.70	3	11.10			
COSC-1105	Introduction to ICT	Δ-	3.70	2	7.40	MATH-1112	Mathematic- International Relations	
0000 1100		<u> </u>	0.10	-	1.10	PAKS-1122		
COSC-1205	Introduction to	A-	3.70	1 3.7	3.70			
	ICT-Lab					ENSC-1101	Introduction	
ENGL-1118	Functional English	B+	3.30	3	9.90		Environment Sciences	
MATH-1111	Mathematics-I	A-	3.70	3	11.10	PHED-1110	Trauma and Rehabilitatio	
		SGPA	3.51	CGPA	3.51			

Fall 2023	Fall 2023							
Course Code	Course Title	Grade	Grade Point	Credit Hours	GPA Earned			
ENGL-2111	Technical Writing & Presentation Skills	A-	3.70	3	11.10			
ENGL-2109	History of English Literature-l	В-	2.70	3	8.10			
ENGL-2105	Introduction to ELT	A-	3.70	3	11.10			
ENGL-2104	Classical Poetry (from Chaucer to Pope)	В-	2.70	3	8.10			
ENGL-2108	Classical and Elizabethan Drama	B+	3.30	3	9.90			
ENGL-2101	Introduction to Linguistics	A	4.00	3	12.00			
		SGPA	3.35	CGPA	3.29			

Academic	Deficiency:
----------	-------------

1. Program Status:

(None / Warning / Probation / Separation / Internship / Withdrawal from the Program) Incomplete

2. Total Credit Hours to complete the program: 135

- 3. Credit Hours completed so far: 52 4 years
- 4. Duration of the Program:

7. University reserves the right to correct any inadvertent error.

Date of issue: 14 May 2024

- 1. Please check your Name and Father's Name including spellings and report to the Examination Department in case of any error.
- Discrepancies if any, are to be reported within 7 days of issue of this document.
 This is a computer generated report and does not need any signature. University reserves the right to correct any inadvertent error.

Page	1	of	1
i ugo		<u> </u>	



Abu Dhabi Road, Rahim Yar Khan

Tel: +92-68-9239122 Fax: +92-68-9239121 www.kfueit.edu.pk **RESULT INTIMATION** Program: BS English



Registration No. GCWAHUSS221101003

Date of Birth: 2005-12-18

Name: RIMSHA ZAHID Father's Name: MUHAMMAD ZAHID HAFEEZ Institute: Govt. Graduate College for Women, Rahim Yar Khan

FALL 2022 Grade Point Credit Hours GPA Earned Course Code **Course Title** Grade SSCI-1111 Introduction to 12.00 A 4.00 Sociology PAKS-1113 **Pakistan Studies** 4.00 2 8.00 A 12.00 ENGL-1101 Study skills A 4.00 3 COSC-1105 Introduction to ICT B+ 3.30 2 6.60 COSC-1205 Introduction to A 4.00 1 4.00 ICT-Lab ENGL-1118 **Functional English** в 3.00 3 9.00 MATH-1111 Mathematics-I А 4.00 3 12.00 3.74 CGPA SGPA 3.74

Fall 2023	Fall 2023							
Course Code	Course Title	Grade	Grade Point	Credit Hours	GPA Earned			
ENGL-2111	Technical Writing & Presentation Skills	A-	3.70	3	11.10			
ENGL-2109	History of English Literature-l	A-	3.70	3	11.10			
ENGL-2105	Introduction to ELT	A	4.00	3	12.00			
ENGL-2104	Classical Poetry (from Chaucer to Pope)	A-	3.70	3	11.10			
ENGL-2108	Classical and Elizabethan Drama	A-	3.70	3	11.10			
ENGL-2101	Introduction to Linguistics	A	4.00	3	12.00			
		SGPA	3.80	CGPA	3.69			

Academic Deficiency:

1. Program Status:

(None / Warning / Probation / Separation / Internship / Withdrawal from the Program) Incomplete

2. Total Credit Hours to complete the program: 135

- 3. Credit Hours completed so far: 52 4 years
- 4. Duration of the Program:
- 7. University reserves the right to correct any inadvertent error.

Date of issue: 14 May 2024

- 1. Please check your Name and Father's Name including spellings and report to the Examination Department in case of any error.
- 2. Discrepancies if any, are to be reported within 7 days of issue of this document.
- 3. This is a computer generated report and does not need any signature. University reserves the right to correct any inadvertent error.

Spring 2023						
Course Code	Course Title	Grade	Grade Point	Credit Hours	GPA Earned	
ISLS-1112/ETI	0slantû c Studies/ Ethics	A	4.00	2	8.00	
ENGL-1119	Communication Skills	A	4.00	3	12.00	
MATH-1112	Mathematic-II	В	3.00	3	9.00	
PAKS-1122	International Relations	B+	3.30	3	9.90	
ENSC-1101	Introduction to Environmental Sciences	В	3.00	3	9.00	
PHED-1110	Trauma and Rehabilitation	A	4.00	3	12.00	
		SGPA	3.52	CGPA	3.63	



Name: NARMEEN AMAN

Khwaja Fareed University of Engineering & Information Technology

Abu Dhabi Road, Rahim Yar Khan

Tel: +92-68-9239122 Fax: +92-68-9239121 www.kfueit.edu.pk **RESULT INTIMATION** Program: BS English

0shann12c Studies/

Communication

Mathematic-II

Introduction to

Environmental Sciences

Rehabilitation



Registration No. GCWAHUSS221101004 Date of Birth: 2000-11-17

Grade Grade Point Credit Hours GPA Earned

3

3

3

3

3

CGPA

6.60

12.00

11.10

11.10

9.00

12.00

3.69

3.30

4.00

3.70

3.70

3.00

4.00

SGPA 3.64

B+

А

A-

A-

В

А

Father's Name: AMANULLAH Institute: Govt. Graduate College for Women, Rahim Yar Khan

FALL 2022						Spring 2023		
Course Code	Course Title	Grade	Grade Point	Credit Hours	GPA Earned	Course Code	Course Title	
SSCI-1111	Introduction to Sociology	A	4.00	3	12.00	ISLS-1112/ET	Ocsilain n2ic Studi Ethics	
PAKS-1113	Pakistan Studies	A	4.00	2	8.00	ENGL-1119	Communicat	
ENGL-1101	Study skills	A	4.00	3	12.00		Skills	
COSC-1105	Introduction to ICT	Δ-	3.70	2	7.40	MATH-1112	Mathematic-	
0000 1100		~	0.10	-	1.10	PAKS-1122	International	
COSC-1205	Introduction to	А	4.00	1	4.00		Relations	
	ICT-Lab					ENSC-1101	Introduction	
ENGL-1118	Functional English	В	3.00	3	9.00		Environment Sciences	
MATH-1111	Mathematics-I	A-	3.70	3	11.10	PHED-1110	Trauma and	
	indeficit deleg 1			-			Rehabilitatio	
		SGPA	3.74	CGPA	3.74			

Fall 2023	Fall 2023							
Course Code	Course Title	Grade	Grade Point	Credit Hours	GPA Earned			
ENGL-2111	Technical Writing & Presentation Skills	B+	3.30	3	9.90			
ENGL-2109	History of English Literature-l	B+	3.30	3	9.90			
ENGL-2105	Introduction to ELT	A	4.00	3	12.00			
ENGL-2104	Classical Poetry (from Chaucer to Pope)	B+	3.30	3	9.90			
ENGL-2108	Classical and Elizabethan Drama	B+	3.30	3	9.90			
ENGL-2101	Introduction to Linguistics	A	4.00	3	12.00			
		SGPA	3.53	CGPA	3.63			

Academic Deficiency:	
1. Program Status:	

(None / Warning / Probation / Separation / Internship / Withdrawal from the Program) Incomplete

2. Total Credit Hours to complete the program: 135

- 3. Credit Hours completed so far: 52 4 years
- 4. Duration of the Program:

7. University reserves the right to correct any inadvertent error.

Date of issue: 14 May 2024

- 1. Please check your Name and Father's Name including spellings and report to the Examination Department in case of any error.
- 2. Discrepancies if any, are to be reported within 7 days of issue of this document.
- 3. This is a computer generated report and does not need any signature. University reserves the right to correct any inadvertent error.

Page	4	of	1
гауе		OI.	



Abu Dhabi Road, Rahim Yar Khan

Tel: +92-68-9239122 Fax: +92-68-9239121 www.kfueit.edu.pk **RESULT INTIMATION** Program: BS English



Registration No. GCWAHUSS221101005

Date of Birth: 2003-12-01

Name: IQRA NAZ Father's Name: GHULAM HUSSAIN

Institute: Govt. Graduate College for Women, Rahim Yar Khan

FALL 2022					
Course Code	Course Title	Grade	Grade Point	Credit Hours	GPA Earned
SSCI-1111	Introduction to Sociology	A-	3.70	3	11.10
PAKS-1113	Pakistan Studies	В-	2.70	2	5.40
ENGL-1101	Study skills	A-	3.70	3	11.10
COSC-1105	Introduction to ICT	В-	2.70	2	5.40
COSC-1205	Introduction to ICT-Lab	A-	3.70	1	3.70
ENGL-1118	Functional English	B+	3.30	3	9.90
MATH-1111	Mathematics-I	В	3.00	3	9.00
		SGPA	3.27	CGPA	3.27

Fall 2023	Fall 2023				
Course Code	Course Title	Grade	Grade Point	Credit Hours	GPA Earned
ENGL-2111	Technical Writing & Presentation Skills	B+	3.30	3	9.90
ENGL-2109	History of English Literature-I	В-	2.70	3	8.10
ENGL-2105	Introduction to ELT	A-	3.70	3	11.10
ENGL-2104	Classical Poetry (from Chaucer to Pope)	В	3.00	3	9.00
ENGL-2108	Classical and Elizabethan Drama	В	3.00	3	9.00
ENGL-2101	Introduction to Linguistics	A-	3.70	3	11.10
		SGPA	3.23	CGPA	3.15

1. Program Status:

(None / Warning / Probation / Separation / Internship / Withdrawal from the Program) Incomplete

2. Total Credit Hours to complete the program: 135

- 3. Credit Hours completed so far: 52 4 years
- 4. Duration of the Program:
- 7. University reserves the right to correct any inadvertent error.

Date of issue: 14 May 2024

- 1. Please check your Name and Father's Name including spellings and report to the Examination Department in case of any error.
- Discrepancies if any, are to be reported within 7 days of issue of this document.
 This is a computer generated report and does not need any signature. University reserves the right to correct any inadvertent error.

Spring 2023					
Course Code	Course Title	Grade	Grade Point	Credit Hours	GPA Earned
ISLS-1112/ETI	0slann 2c Studies/ Ethics	B+	3.30	2	6.60
ENGL-1119	Communication Skills	В	3.00	3	9.00
MATH-1112	Mathematic-II	В-	2.70	3	8.10
PAKS-1122	International Relations	В-	2.70	3	8.10
ENSC-1101	Introduction to Environmental Sciences	C+	2.30	3	6.90
PHED-1110	Trauma and Rehabilitation	A-	3.70	3	11.10
		SGPA	2.93	CGPA	3.10



Abu Dhabi Road, Rahim Yar Khan

Tel: +92-68-9239122 Fax: +92-68-9239121 www.kfueit.edu.pk **RESULT INTIMATION** Program: BS English



Registration No. GCWAHUSS221101006

Date of Birth: 2005-08-08

Name: ZUNAIRA NAHEED Father's Name: ABDUL SATTAR

Institute: Govt. Graduate College for Women, Rahim Yar Khan

FALL 2022	Spring 2023						
Course Code	Course Title	Grade	Grade Point	Credit Hours	GPA Earned	Course Code	ľ
SSCI-1111	Introduction to Sociology	A-	3.70	3	11.10	ISLS-1112/ET	C
PAKS-1113	Pakistan Studies	В	3.00	2	6.00	ENGL-1119	
ENGL-1101	Study skills	A	4.00	3	12.00		ļ
COSC-1105	Introduction to ICT	C+	2.30	2	4.60	MATH-1112	L
		-				PAKS-1122	
COSC-1205	Introduction to	А	4.00	1	4.00		Ļ
	ICT-Lab					ENSC-1101	
ENGL-1118	Functional English	В-	2.70	3	8.10		
						PHED-1110	ľ
MATH-1111	Mathematics-I	B-	2.70	3	8.10		
		SGPA	3.17	CGPA	3.17		

Fall 2023	Fall 2023					
Course Code	Course Title	Grade	Grade Point	Credit Hours	GPA Earned	
ENGL-2111	Technical Writing & Presentation Skills	B+	3.30	3	9.90	
ENGL-2109	History of English Literature-l	С	2.00	3	6.00	
ENGL-2105	Introduction to ELT	B+	3.30	3	9.90	
ENGL-2104	Classical Poetry (from Chaucer to Pope)	C-	1.70	3	5.10	
ENGL-2108	Classical and Elizabethan Drama	В-	2.70	3	8.10	
ENGL-2101	Introduction to Linguistics	A-	3.70	3	11.10	
		SGPA	2.78	CGPA	3.01	

Academic	Deficiency:
Acaacinic	Denerciery

1. Program Status:

(None / Warning / Probation / Separation / Internship / Withdrawal from the Program) Incomplete

2. Total Credit Hours to complete the program:

- 135 3. Credit Hours completed so far: 52 4 years
- 4. Duration of the Program:

7. University reserves the right to correct any inadvertent error.

Date of issue: 14 May 2024

- 1. Please check your Name and Father's Name including spellings and report to the Examination Department in case of any error.
- Discrepancies if any, are to be reported within 7 days of issue of this document.
 This is a computer generated report and does not need any signature. University reserves the right to correct any inadvertent error.

	opinig 2023						
ed	Course Code	Course Title	Grade	Grade Point	Credit Hours	GPA Earned	
	ISLS-1112/ETI	0slann2c Studies/ Ethics	В-	2.70	2	5.40	
	ENGL-1119	Communication Skills	A-	3.70	3	11.10	
-	MATH-1112	Mathematic-II	A-	3.70	3	11.10	
	PAKS-1122	International Relations	C+	2.30	3	6.90	
_	ENSC-1101	Introduction to Environmental Sciences	C+	2.30	3	6.90	
	PHED-1110	Trauma and Rehabilitation	A-	3.70	3	11.10	
			SGPA	3.09	CGPA	3.13	



Abu Dhabi Road, Rahim Yar Khan

Tel: +92-68-9239122 Fax: +92-68-9239121 www.kfueit.edu.pk **RESULT INTIMATION** Program: BS English



Registration No. GCWAHUSS221101007

Date of Birth: 2003-06-15

Name: FIZA HASSAN Father's Name: SHAHEED-UL-HASSAN Institute: Govt. Graduate College for Women, Rahim Yar Khan

FALL 2022							
Course Code	Course Title	Grade	Grade Point	Credit Hours	GPA Earned		
SSCI-1111	Introduction to Sociology	A	4.00	3	12.00		
PAKS-1113	Pakistan Studies	A-	3.70	2	7.40		
ENGL-1101	Study skills	A	4.00	3	12.00		
COSC-1105	Introduction to ICT	В-	2.70	2	5.40		
COSC-1205	Introduction to ICT-Lab	A	4.00	1	4.00		
ENGL-1118	Functional English	B+	3.30	3	9.90		
MATH-1111	Mathematics-I	B+	3.30	3	9.90		
	•	SGPA	3.56	CGPA	3.56		

Fall 2023	Fall 2023					
Course Code	Course Title	Grade	Grade Point	Credit Hours	GPA Earned	
ENGL-2111	Technical Writing & Presentation Skills	F	0.00	3	0.00	
ENGL-2109	History of English Literature-l	F	0.00	3	0.00	
ENGL-2105	Introduction to ELT	F	0.00	3	0.00	
ENGL-2104	Classical Poetry (from Chaucer to Pope)	F	0.00	3	0.00	
ENGL-2108	Classical and Elizabethan Drama	F	0.00	3	0.00	
ENGL-2101	Introduction to Linguistics	F	0.00	3	0.00	
		SGPA	0.00	CGPA	2.17	

Academic Deficiency:	
1. Program Status:	

(None / Warning / Probation / Separation / Internship / Withdrawal from the Program) Incomplete

2. Total Credit Hours to complete the program: 135

- 3. Credit Hours completed so far: 34 4 years
- 4. Duration of the Program:

7. University reserves the right to correct any inadvertent error.

Date of issue: 14 May 2024

- 1. Please check your Name and Father's Name including spellings and report to the Examination Department in case of any error.
- Discrepancies if any, are to be reported within 7 days of issue of this document.
 This is a computer generated report and does not need any signature. University reserves the right to correct any inadvertent error.

Spring 2023						
Course Code	Course Title	Grade	Grade Point	Credit Hours	GPA Earned	
PHED-1110	Trauma and Rehabilitation	A	4.00	3	12.00	
ISLS-1112/ETI	0slannû c Studies/ Ethics	В-	2.70	2	5.40	
ENGL-1119	Communication Skills	A	4.00	3	12.00	
MATH-1112	Mathematic-II	D+	1.30	3	3.90	
PAKS-1122	International Relations	B+	3.30	3	9.90	
ENSC-1101	Introduction to Environmental Sciences	В	3.00	3	9.00	
		SGPA	3.07	CGPA	3.32	



Abu Dhabi Road, Rahim Yar Khan

Tel: +92-68-9239122 Fax: +92-68-9239121 www.kfueit.edu.pk **RESULT INTIMATION** Program: BS English



Registration No. GCWAHUSS221101008

Date of Birth: 2005-01-16

Name: ERAM NAEEM Father's Name: MUHAMMAD NAEEM

Institute: Govt. Graduate College for Women, Rahim Yar Khan

FALL 2022					
Course Code	Course Title	Grade	Grade Point	Credit Hours	GPA Earned
SSCI-1111	Introduction to Sociology	B+	3.30	3	9.90
PAKS-1113	Pakistan Studies	В	3.00	2	6.00
ENGL-1101	Study skills	A-	3.70	3	11.10
COSC-1105	Introduction to ICT	C+	2.30	2	4.60
COSC-1205	Introduction to ICT-Lab	A	4.00	1	4.00
ENGL-1118	Functional English	В	3.00	3	9.00
MATH-1111	Mathematics-I	В	3.00	3	9.00
		SGPA	3.15	CGPA	3.15

Fall 2023	Fall 2023						
Course Code	Course Title	Grade	Grade Point	Credit Hours	GPA Earned		
ENGL-2111	Technical Writing & Presentation Skills	A-	3.70	3	11.10		
ENGL-2109	History of English Literature-l	C+	2.30	3	6.90		
ENGL-2105	Introduction to ELT	A	4.00	3	12.00		
ENGL-2104	Classical Poetry (from Chaucer to Pope)	В-	2.70	3	8.10		
ENGL-2108	Classical and Elizabethan Drama	В-	2.70	3	8.10		
ENGL-2101	Introduction to Linguistics	A	4.00	3	12.00		
		SGPA	3.23	CGPA	3.18		

Academic Deficiency:

1. Program Status:

(None / Warning / Probation / Separation / Internship / Withdrawal from the Program) Incomplete

2. Total Credit Hours to complete the program:

- 135 3. Credit Hours completed so far: 52 4 years
- 4. Duration of the Program:
- 7. University reserves the right to correct any inadvertent error.

Date of issue: 14 May 2024

- 1. Please check your Name and Father's Name including spellings and report to the Examination Department in case of any error.
- Discrepancies if any, are to be reported within 7 days of issue of this document.
 This is a computer generated report and does not need any signature. University reserves the right to correct any inadvertent error.

Spring 2023						
Course Code	Course Title	Grade	Grade Point	Credit Hours	GPA Earned	
ISLS-1112/ETI	0slannû c Studies/ Ethics	A-	3.70	2	7.40	
ENGL-1119	Communication Skills	B+	3.30	3	9.90	
MATH-1112	Mathematic-II	A-	3.70	3	11.10	
PAKS-1122	International Relations	С	2.00	3	6.00	
ENSC-1101	Introduction to Environmental Sciences	В-	2.70	3	8.10	
PHED-1110	Trauma and Rehabilitation	A-	3.70	3	11.10	
		SGPA	3.15	CGPA	3.15	



Abu Dhabi Road, Rahim Yar Khan

Tel: +92-68-9239122 Fax: +92-68-9239121 www.kfueit.edu.pk **RESULT INTIMATION** Program: BS English



Credit Hours GPA Earned

8.00

9.90

11.10

6.00

8.10

11.10

3.22

Registration No. GCWAHUSS221101009 Date of Birth: 2002-08-23

3

3

3

3

3

CGPA

Grade Grade Point

4.00

3.30

3.70

2.00

2.70

3.70

SGPA 3.19

B+

A-

С

B-

A-

0shann12c Studies/

Communication

Mathematic-II

Introduction to

Environmental Sciences

Rehabilitation

Name: SEHAR KHAN Father's Name: AMEER KHAN

Institute: Govt. Graduate College for Women, Rahim Yar Khan

FALL 2022	FALL 2022					Spring 2023	
Course Code	Course Title	Grade	Grade Point	Credit Hours	GPA Earned	Course Code	Course Title
SSCI-1111	Introduction to Sociology	A-	3.70	3	11.10	ISLS-1112/ET	Oslfamlo2c Stud Ethics
PAKS-1113	Pakistan Studies	B+	3.30	2	6.60	ENGL-1119	Communicat Skills
ENGL-1101	Study skills	A-	3.70	3	11.10		
COSC-1105	Introduction to ICT	B-	2.70	2	5.40	PAKS-1122 Inter	Mathematic-
0000 1100			2.10	-	0.10		International
COSC-1205	Introduction to	А	4.00	1	4.00		Relations
	ICT-Lab					ENSC-1101	Introduction
ENGL-1118	Functional English	В-	2.70	3	8.10		Environment Sciences
MATH-1111	Mathematics-I	В	3.00	3	9.00	PHED-1110	Trauma and Rehabilitatio
		SGPA	3.25	CGPA	3.25		

Fall 2023	Fall 2023						
Course Code	Course Title	Grade	Grade Point	Credit Hours	GPA Earned		
ENGL-2111	Technical Writing & Presentation Skills	A-	3.70	3	11.10		
ENGL-2109	History of English Literature-l	C+	2.30	3	6.90		
ENGL-2105	Introduction to ELT	A-	3.70	3	11.10		
ENGL-2104	Classical Poetry (from Chaucer to Pope)	В-	2.70	3	8.10		
ENGL-2108	Classical and Elizabethan Drama	B+	3.30	3	9.90		
ENGL-2101	Introduction to Linguistics	A	4.00	3	12.00		
		SGPA	3.28	CGPA	3.24		

Academic Deficiency:	
1. Program Status:	

(None / Warning / Probation / Separation / Internship / Withdrawal from the Program) Incomplete

2. Total Credit Hours to complete the program: 135

- 3. Credit Hours completed so far: 52 4 years
- 4. Duration of the Program:

7. University reserves the right to correct any inadvertent error.

Date of issue: 14 May 2024

- 1. Please check your Name and Father's Name including spellings and report to the Examination Department in case of any error.
- Discrepancies if any, are to be reported within 7 days of issue of this document.
 This is a computer generated report and does not need any signature. University reserves the right to correct any inadvertent error.

Page	4	of	1
гауе		OI.	



Abu Dhabi Road, Rahim Yar Khan

Tel: +92-68-9239122 Fax: +92-68-9239121 www.kfueit.edu.pk **RESULT INTIMATION** Program: BS English



Registration No. GCWAHUSS221101010

Date of Birth: 2004-02-16

Name: FATIMA RANI Father's Name: MUHAMMAD AZAM

Institute: Govt. Graduate College for Women, Rahim Yar Khan

FALL 2022					
Course Code	Course Title	Grade	Grade Point	Credit Hours	GPA Earned
SSCI-1111	Introduction to Sociology	B+	3.30	3	9.90
PAKS-1113	Pakistan Studies	В-	2.70	2	5.40
ENGL-1101	Study skills	A	4.00	3	12.00
COSC-1105	Introduction to ICT	В	3.00	2	6.00
COSC-1205	Introduction to ICT-Lab	A	4.00	1	4.00
ENGL-1118	Functional English	B+	3.30	3	9.90
MATH-1111	Mathematics-I	A-	3.70	3	11.10
		SGPA	3.43	CGPA	3.43

Fall 2023	Fall 2023						
Course Code	Course Title	Grade	Grade Point	Credit Hours	GPA Earned		
ENGL-2111	Technical Writing & Presentation Skills	В	3.00	3	9.00		
ENGL-2109	History of English Literature-I	B+	3.30	3	9.90		
ENGL-2105	Introduction to ELT	A	4.00	3	12.00		
ENGL-2104	Classical Poetry (from Chaucer to Pope)	C+	2.30	3	6.90		
ENGL-2108	Classical and Elizabethan Drama	В-	2.70	3	8.10		
ENGL-2101	Introduction to Linguistics	A	4.00	3	12.00		
		SGPA	3.22	CGPA	3.38		

Academic	Deficiency:
Academic	Denciency

1. Program Status:

(None / Warning / Probation / Separation / Internship / Withdrawal from the Program) Incomplete

2. Total Credit Hours to complete the program: 135

- 3. Credit Hours completed so far: 52 4 years
- 4. Duration of the Program:
- 7. University reserves the right to correct any inadvertent error.

Date of issue: 14 May 2024

- 1. Please check your Name and Father's Name including spellings and report to the Examination Department in case of any error.
- Discrepancies if any, are to be reported within 7 days of issue of this document.
 This is a computer generated report and does not need any signature. University reserves the right to correct any inadvertent error.

Spring 2023						
Course Code	Course Title	Grade	Grade Point	Credit Hours	GPA Earned	
ISLS-1112/ET	0ຣາໄສເການ ີດ Studies/ Ethics	A-	3.70	2	7.40	
ENGL-1119	Communication Skills	A-	3.70	3	11.10	
MATH-1112	Mathematic-II	A-	3.70	3	11.10	
PAKS-1122	International Relations	В	3.00	3	9.00	
ENSC-1101	Introduction to Environmental Sciences	В	3.00	3	9.00	
PHED-1110	Trauma and Rehabilitation	A	4.00	3	12.00	
		SGPA	3.51	CGPA	3.47	



Abu Dhabi Road, Rahim Yar Khan

Tel: +92-68-9239122 Fax: +92-68-9239121 www.kfueit.edu.pk **RESULT INTIMATION** Program: BS English



Registration No. GCWAHUSS221101011

Date of Birth: 2005-04-29

Name: GHULAM FATIMA Father's Name: WALI MUHAMMAD

Institute: Govt. Graduate College for Women, Rahim Yar Khan

FALL 2022					
Course Code	Course Title	Grade	Grade Point	Credit Hours	GPA Earned
SSCI-1111	Introduction to Sociology	A	4.00	3	12.00
PAKS-1113	Pakistan Studies	C+	2.30	2	4.60
ENGL-1101	Study skills	B+	3.30	3	9.90
COSC-1105	Introduction to ICT	A	4.00	2	8.00
COSC-1205	Introduction to ICT-Lab	B+	3.30	1	3.30
ENGL-1118	Functional English	В-	2.70	3	8.10
MATH-1111	Mathematics-I	C-	1.70	3	5.10
		SGPA	3.00	CGPA	3.00

	Spring 2023					
I	Course Code	Course Title	Grade	Grade Point	Credit Hours	GPA Earned
	ISLS-1112/ETI	0slann2 c Studies/ Ethics	В	3.00	2	6.00
	ENGL-1119	Communication Skills	A	4.00	3	12.00
┥	MATH-1112	Mathematic-II	B+	3.30	3	9.90
	PAKS-1122	International Relations	В-	2.70	3	8.10
	ENSC-1101	Introduction to Environmental Sciences	В-	2.70	3	8.10
	PHED-1110	Trauma and Rehabilitation	A	4.00	3	12.00
I			SGPA	3.30	CGPA	3.15

Fall 2023					
Course Code	Course Title	Grade	Grade Point	Credit Hours	GPA Earned
ENGL-2111	Technical Writing & Presentation Skills	B+	3.30	3	9.90
ENGL-2109	History of English Literature-I	C+	2.30	3	6.90
ENGL-2105	Introduction to ELT	A-	3.70	3	11.10
ENGL-2104	Classical Poetry (from Chaucer to Pope)	C+	2.30	3	6.90
ENGL-2108	Classical and Elizabethan Drama	B+	3.30	3	9.90
ENGL-2101	Introduction to Linguistics	A	4.00	3	12.00
		SGPA	3.15	CGPA	3.15

Academic Deficiency: **1. Program Status:**

(None / Warning / Probation / Separation / Internship / Withdrawal from the Program) Incomplete

2. Total Credit Hours to complete the program:

- 3. Credit Hours completed so far: 52 4 years
- 4. Duration of the Program:

7. University reserves the right to correct any inadvertent error.

Date of issue: 14 May 2024

Notes

- 1. Please check your Name and Father's Name including spellings and report to the Examination Department in case of any error.

135

Discrepancies if any, are to be reported within 7 days of issue of this document.
 This is a computer generated report and does not need any signature. University reserves the right to correct any inadvertent error.



Abu Dhabi Road, Rahim Yar Khan

Tel: +92-68-9239122 Fax: +92-68-9239121 www.kfueit.edu.pk **RESULT INTIMATION** Program: BS English



Registration No. GCWAHUSS221101012

Date of Birth: 2003-07-19

Name: SYEDA KASHAF MARYAM Father's Name: SYED IMRAN MAJEED SHAH

Institute: Govt. Graduate College for Women, Rahim Yar Khan

FALL 2022						Spring 2023	
Course Code	Course Title	Grade	Grade Point	Credit Hours	GPA Earned	Course Code	1
SSCI-1111	Introduction to Sociology	A	4.00	3	12.00	ISLS-1112/ETI	0
PAKS-1113	Pakistan Studies	A	4.00	2	8.00	ENGL-1119	1
ENGL-1101	Study skills	A	4.00	3	12.00		ŀ
COSC-1105	Introduction to ICT	A	4.00	2	8.00	MATH-1112	L
				_		PAKS-1122	1
COSC-1205	Introduction to	А	4.00	1	4.00		L
	ICT-Lab					ENSC-1101	ľ
ENGL-1118	Functional English	A-	3.70	3	11.10		ľ
	Math anatical		0.70		0.40	PHED-1110	ľ
MATH-1111	Mathematics-I	В-	2.70	3	8.10		ĺ
		SGPA	3.72	CGPA	3.72		

Fall 2023	Fall 2023						
Course Code	Course Title	Grade	Grade Point	Credit Hours	GPA Earned		
ENGL-2111	Technical Writing & Presentation Skills	A-	3.70	3	11.10		
ENGL-2109	History of English Literature-l	A-	3.70	3	11.10		
ENGL-2105	Introduction to ELT	A	4.00	3	12.00		
ENGL-2104	Classical Poetry (from Chaucer to Pope)	A-	3.70	3	11.10		
ENGL-2108	Classical and Elizabethan Drama	A	4.00	3	12.00		
ENGL-2101	Introduction to Linguistics	A	4.00	3	12.00		
		SGPA	3.85	CGPA	3.72		

1. Program Status:

(None / Warning / Probation / Separation / Internship / Withdrawal from the Program) Incomplete

2. Total Credit Hours to complete the program:

- 135 3. Credit Hours completed so far: 52 4 years
- 4. Duration of the Program:
- 7. University reserves the right to correct any inadvertent error.

Date of issue: 14 May 2024

- 1. Please check your Name and Father's Name including spellings and report to the Examination Department in case of any error.
- Discrepancies if any, are to be reported within 7 days of issue of this document.
 This is a computer generated report and does not need any signature. University reserves the right to correct any inadvertent error.

Course Code	Course Title	Grade	Grade Point	Credit Hours	GPA Earned
ISLS-1112/ETI	0slann2 c Studies/ Ethics	В	3.00	2	6.00
ENGL-1119	Communication Skills	A	4.00	3	12.00
MATH-1112	Mathematic-II	C+	2.30	3	6.90
PAKS-1122	International Relations	A	4.00	3	12.00
ENSC-1101	Introduction to Environmental Sciences	A	4.00	3	12.00
PHED-1110	Trauma and Rehabilitation	A	4.00	3	12.00
		SGPA	3.58	CGPA	3.65



Abu Dhabi Road, Rahim Yar Khan

Tel: +92-68-9239122 Fax: +92-68-9239121 www.kfueit.edu.pk **RESULT INTIMATION** Program: BS English



Registration No. GCWAHUSS221101013 Date of Birth: 1999-08-06

3

3

3

3

3

CGPA

Credit Hours GPA Earned

7.40

9.00

3.00

6.90

6.00

9.90

2.49

Grade Grade Point

3.70

3.00

1.00

2.30

2.00

3.30

SGPA 2.48

A٠

В

D

C+

С

B+

0shann12c Studies/

Communication

Mathematic-II

Introduction to

Environmental Sciences

Rehabilitation

Father's Name: NASIR IQBAL Institute: Govt. Graduate College for Women, Rahim Yar Khan

Name: ASIA NASIR

FALL 2022						Spring 2023	
Course Code	Course Title	Grade	Grade Point	Credit Hours	GPA Earned	Course Code	Course Title
SSCI-1111	Introduction to Sociology	B+	3.30	3	9.90	ISLS-1112/ET	Oslian n2c Stud Ethics
PAKS-1113	Pakistan Studies	C+	2.30	2	4.60	ENGL-1119	Communicat
ENGL-1101	Study skills	A-	3.70	3	11.10		Skills
COSC-1105	Introduction to ICT	C+	2.30	2	4.60	MATH-1112 PAKS-1122	Mathematic-
		0,	2.00	-	1.00		Internationa Relations
COSC-1205	Introduction to	A	4.00	1	4.00		Relations
	ICT-Lab					ENSC-1101	Introduction
ENGL-1118	Functional English	В-	2.70	3	8.10		Environment Sciences
				-		PHED-1110	Trauma and
MATH-1111	Mathematics-I	F	0.00	3	0.00		Rehabilitatio
		SGPA	2.49	CGPA	2.49		

Fall 2023					
Course Code	Course Title	Grade	Grade Point	Credit Hours	GPA Earned
ENGL-2111	Technical Writing & Presentation Skills	A-	3.70	3	11.10
ENGL-2109	History of English Literature-l	C+	2.30	3	6.90
ENGL-2105	Introduction to ELT	A-	3.70	3	11.10
ENGL-2104	Classical Poetry (from Chaucer to Pope)	C+	2.30	3	6.90
ENGL-2108	Classical and Elizabethan Drama	A-	3.70	3	11.10
ENGL-2101	Introduction to Linguistics	A-	3.70	3	11.10
		SGPA	3.23	CGPA	2.74

Academic	Deficiency:
----------	-------------

1. Program Status:

(None / Warning / Probation / Separation / Internship / Withdrawal from the Program) Incomplete

2. Total Credit Hours to complete the program: 135

- 3. Credit Hours completed so far: 49 4 years
- 4. Duration of the Program:

7. University reserves the right to correct any inadvertent error.

Date of issue: 14 May 2024

- 1. Please check your Name and Father's Name including spellings and report to the Examination Department in case of any error.
- 2. Discrepancies if any, are to be reported within 7 days of issue of this document.
- 3. This is a computer generated report and does not need any signature. University reserves the right to correct any inadvertent error.

Page	1	of	1
i aye		UI.	



Name: ALIA JAMIL

Khwaja Fareed University of Engineering & Information Technology

Abu Dhabi Road, Rahim Yar Khan

Tel: +92-68-9239122 Fax: +92-68-9239121 www.kfueit.edu.pk **RESULT INTIMATION** Program: BS English



Registration No. GCWAHUSS221101014 Date of Birth: 2003-04-14

Father's Name: JAMIL AHMAD

Institute: Govt. Graduate College for Women, Rahim Yar Khan

FALL 2022					
Course Code	Course Title	Grade	Grade Point	Credit Hours	GPA Earned
SSCI-1111	Introduction to Sociology	A-	3.70	3	11.10
PAKS-1113	Pakistan Studies	A-	3.70	2	7.40
ENGL-1101	Study skills	A	4.00	3	12.00
COSC-1105	Introduction to ICT	В	3.00	2	6.00
COSC-1205	Introduction to ICT-Lab	A	4.00	1	4.00
ENGL-1118	Functional English	A-	3.70	3	11.10
MATH-1111	Mathematics-I	А	4.00	3	12.00
		SGPA	3.74	CGPA	3.74

Fall 2023	Fall 2023					
Course Code	Course Title	Grade	Grade Point	Credit Hours	GPA Earned	
ENGL-2111	Technical Writing & Presentation Skills	B+	3.30	3	9.90	
ENGL-2109	History of English Literature-l	С	2.00	3	6.00	
ENGL-2105	Introduction to ELT	A-	3.70	3	11.10	
ENGL-2104	Classical Poetry (from Chaucer to Pope)	B+	3.30	3	9.90	
ENGL-2108	Classical and Elizabethan Drama	B+	3.30	3	9.90	
ENGL-2101	Introduction to Linguistics	A	4.00	3	12.00	
		SGPA	3.27	CGPA	3.52	

Academic	Deficiency:

1. Program Status:

(None / Warning / Probation / Separation / Internship / Withdrawal from the Program) Incomplete

2. Total Credit Hours to complete the program: 135

- 3. Credit Hours completed so far: 52 4 years
- 4. Duration of the Program:

7. University reserves the right to correct any inadvertent error.

Date of issue: 14 May 2024

- 1. Please check your Name and Father's Name including spellings and report to the Examination Department in case of any error.
- Discrepancies if any, are to be reported within 7 days of issue of this document.
 This is a computer generated report and does not need any signature. University reserves the right to correct any inadvertent error.

	Page	1	of	1
--	------	---	----	---

Spring 2023					
Course Code	Course Title	Grade	Grade Point	Credit Hours	GPA Earned
ISLS-1112/ET	0ຣາໄສເການ ີດ Studies/ Ethics	A-	3.70	2	7.40
ENGL-1119	Communication Skills	A	4.00	3	12.00
MATH-1112	Mathematic-II	A-	3.70	3	11.10
PAKS-1122	International Relations	В	3.00	3	9.00
ENSC-1101	Introduction to Environmental Sciences	В	3.00	3	9.00
PHED-1110	Trauma and Rehabilitation	A	4.00	3	12.00
		SGPA	3.56	CGPA	3.65



Abu Dhabi Road, Rahim Yar Khan

Tel: +92-68-9239122 Fax: +92-68-9239121 www.kfueit.edu.pk **RESULT INTIMATION** Program: BS English



Registration No. GCWAHUSS221101015

Date of Birth: 2005-10-10

Name: NALAIN ZAHRA Father's Name: MUJAHID HUSSAIN Institute: Govt. Graduate College for Women, Rahim Yar Khan

FALL 2022					
Course Code	Course Title	Grade	Grade Point	Credit Hours	GPA Earned
SSCI-1111	Introduction to Sociology	A	4.00	3	12.00
PAKS-1113	Pakistan Studies	A-	3.70	2	7.40
ENGL-1101	Study skills	A	4.00	3	12.00
COSC-1105	Introduction to ICT	В-	2.70	2	5.40
COSC-1205	Introduction to ICT-Lab	A	4.00	1	4.00
ENGL-1118	Functional English	A-	3.70	3	11.10
MATH-1111	Mathematics-I	В-	2.70	3	8.10
	•	SGPA	3.53	CGPA	3.53

Fall 2023	Fall 2023					
Course Code	Course Title	Grade	Grade Point	Credit Hours	GPA Earned	
ENGL-2111	Technical Writing & Presentation Skills	A-	3.70	3	11.10	
ENGL-2109	History of English Literature-l	B+	3.30	3	9.90	
ENGL-2105	Introduction to ELT	A	4.00	3	12.00	
ENGL-2104	Classical Poetry (from Chaucer to Pope)	В	3.00	3	9.00	
ENGL-2108	Classical and Elizabethan Drama	A-	3.70	3	11.10	
ENGL-2101	Introduction to Linguistics	A	4.00	3	12.00	
		SGPA	3.62	CGPA	3.57	

Academic	Deficiency:

1. Program Status:

(None / Warning / Probation / Separation / Internship / Withdrawal from the Program) Incomplete

2. Total Credit Hours to complete the program:

- 135 3. Credit Hours completed so far: 52 4 years
- 4. Duration of the Program:

7. University reserves the right to correct any inadvertent error.

Date of issue: 14 May 2024

- 1. Please check your Name and Father's Name including spellings and report to the Examination Department in case of any error.
- Discrepancies if any, are to be reported within 7 days of issue of this document.
 This is a computer generated report and does not need any signature. University reserves the right to correct any inadvertent error.

Spring 2023					
Course Code	Course Title	Grade	Grade Point	Credit Hours	GPA Earned
PHED-1110	Trauma and Rehabilitation	A	4.00	3	12.00
ISLS-1112/ETI	0ຣາໄສເກtນ ີດ Studies/ Ethics	A-	3.70	2	7.40
ENGL-1119	Communication Skills	A-	3.70	3	11.10
MATH-1112	Mathematic-II	В	3.00	3	9.00
PAKS-1122	International Relations	A-	3.70	3	11.10
ENSC-1101	Introduction to Environmental Sciences	B+	3.30	3	9.90
	a	SGPA	3.56	CGPA	3.54



Abu Dhabi Road, Rahim Yar Khan

Tel: +92-68-9239122 Fax: +92-68-9239121 www.kfueit.edu.pk **RESULT INTIMATION** Program: BS English



Registration No. GCWAHUSS221101016

Date of Birth: 2003-06-09

Name: MUSFIRA FAROOQ Father's Name: MUHAMMAD FAROOQ

Institute: Govt. Graduate College for Women, Rahim Yar Khan

FALL 2022					
Course Code	Course Title	Grade	Grade Point	Credit Hours	GPA Earned
SSCI-1111	Introduction to Sociology	A-	3.70	3	11.10
PAKS-1113	Pakistan Studies	В	3.00	2	6.00
ENGL-1101	Study skills	A	4.00	3	12.00
COSC-1105	Introduction to ICT	B+	3.30	2	6.60
COSC-1205	Introduction to ICT-Lab	A	4.00	1	4.00
ENGL-1118	Functional English	B+	3.30	3	9.90
MATH-1111	Mathematics-I	A-	3.70	3	11.10
	•	SGPA	3.57	CGPA	3.57

Fall 2023					
Course Code	Course Title	Grade	Grade Point	Credit Hours	GPA Earned
ENGL-2111	Technical Writing & Presentation Skills	A-	3.70	3	11.10
ENGL-2109	History of English Literature-I	B+	3.30	3	9.90
ENGL-2105	Introduction to ELT	A-	3.70	3	11.10
ENGL-2104	Classical Poetry (from Chaucer to Pope)	В-	2.70	3	8.10
ENGL-2108	Classical and Elizabethan Drama	A	4.00	3	12.00
ENGL-2101	Introduction to Linguistics	A-	3.70	3	11.10
		SGPA	3.52	CGPA	3.46

1. Program Status:

(None / Warning / Probation / Separation / Internship / Withdrawal from the Program) Incomplete

2. Total Credit Hours to complete the program:

- 135 3. Credit Hours completed so far: 52 4 years
- 4. Duration of the Program:
- 7. University reserves the right to correct any inadvertent error.

Date of issue: 14 May 2024

- 1. Please check your Name and Father's Name including spellings and report to the Examination Department in case of any error.
- Discrepancies if any, are to be reported within 7 days of issue of this document.
 This is a computer generated report and does not need any signature. University reserves the right to correct any inadvertent error.

Spring 2023						
Course Code	Course Title	Grade	Grade Point	Credit Hours	GPA Earned	
ISLS-1112/ETI	0slann 2c Studies/ Ethics	B+	3.30	2	6.60	
ENGL-1119	Communication Skills	В	3.00	3	9.00	
MATH-1112	Mathematic-II	А	4.00	3	12.00	
PAKS-1122	International Relations	В-	2.70	3	8.10	
ENSC-1101	Introduction to Environmental Sciences	В	3.00	3	9.00	
PHED-1110	Trauma and Rehabilitation	A-	3.70	3	11.10	
		SGPA	3.28	CGPA	3.43	



Abu Dhabi Road, Rahim Yar Khan

Tel: +92-68-9239122 Fax: +92-68-9239121 www.kfueit.edu.pk **RESULT INTIMATION** Program: BS English



Registration No. GCWAHUSS221101017

Date of Birth: 2006-07-01

Name: FARHANA YASMEEN Father's Name: MUHAMMAD RAMZAN

Institute: Govt. Graduate College for Women, Rahim Yar Khan

FALL 2022						
Course Code	Course Title	Grade	Grade Point	Credit Hours	GPA Earned	
SSCI-1111	Introduction to Sociology	A-	3.70	3	11.10	
PAKS-1113	Pakistan Studies	В	3.00	2	6.00	
ENGL-1101	Study skills	A	4.00	3	12.00	
COSC-1105	Introduction to ICT	B+	3.30	2	6.60	
COSC-1205	Introduction to ICT-Lab	A	4.00	1	4.00	
ENGL-1118	Functional English	В	3.00	3	9.00	
MATH-1111	Mathematics-I	C+	2.30	3	6.90	
		SGPA	3.27	CGPA	3.27	

Spring 2023							
Course Code	Course Title	Grade	Grade Point	Credit Hours	GPA Earned		
ISLS-1112/ETI	0slantû c Studies/ Ethics	B-	2.70	2	5.40		
ENGL-1119	Communication Skills	A-	3.70	3	11.10		
MATH-1112	Mathematic-II	C-	1.70	3	5.10		
PAKS-1122	International Relations	B-	2.70	3	8.10		
ENSC-1101	Introduction to Environmental Sciences	В	3.00	3	9.00		
PHED-1110	Trauma and Rehabilitation	A	4.00	3	12.00		
		SGPA	2.98	CGPA	3.13		

Fall 2023	Fall 2023							
Course Code	Course Title	Grade	Grade Point	Credit Hours	GPA Earned			
ENGL-2111	Technical Writing & Presentation Skills	A-	3.70	3	11.10			
ENGL-2109	History of English Literature-I	В-	2.70	3	8.10			
ENGL-2105	Introduction to ELT	A	4.00	3	12.00			
ENGL-2104	Classical Poetry (from Chaucer to Pope)	С	2.00	3	6.00			
ENGL-2108	Classical and Elizabethan Drama	В	3.00	3	9.00			
ENGL-2101	Introduction to Linguistics	A	4.00	3	12.00			
		SGPA	3.23	CGPA	3.16			

Academic Deficiency: **1. Program Status:**

(None / Warning / Probation / Separation / Internship / Withdrawal from the Program) Incomplete

2. Total Credit Hours to complete the program:

- 3. Credit Hours completed so far: 52 4 years
- 4. Duration of the Program:
- 7. University reserves the right to correct any inadvertent error.

Date of issue: 14 May 2024

Notes

- 1. Please check your Name and Father's Name including spellings and report to the Examination Department in case of any error.

135

Discrepancies if any, are to be reported within 7 days of issue of this document.
 This is a computer generated report and does not need any signature. University reserves the right to correct any inadvertent error.



Abu Dhabi Road, Rahim Yar Khan

Tel: +92-68-9239122 Fax: +92-68-9239121 www.kfueit.edu.pk **RESULT INTIMATION** Program: BS English



Registration No. GCWAHUSS221101018

Date of Birth: 2003-11-24

Name: AMINA WASEEM Father's Name: MUHAMMAD WASEEM AFZAL

Institute: Govt. Graduate College for Women, Rahim Yar Khan

FALL 2022					
Course Code	Course Title	Grade	Grade Point	Credit Hours	GPA Earned
SSCI-1111	Introduction to Sociology	A-	3.70	3	11.10
PAKS-1113	Pakistan Studies	В	3.00	2	6.00
ENGL-1101	Study skills	A-	3.70	3	11.10
COSC-1105	Introduction to ICT	В-	2.70	2	5.40
COSC-1205	Introduction to ICT-Lab	A	4.00	1	4.00
ENGL-1118	Functional English	В	3.00	3	9.00
MATH-1111	Mathematics-I	A-	3.70	3	11.10
		SGPA	3.39	CGPA	3.39

Fall 2023	Fall 2023						
Course Code	Course Title	Grade	Grade Point	Credit Hours	GPA Earned		
ENGL-2111	Technical Writing & Presentation Skills	B+	3.30	3	9.90		
ENGL-2109	History of English Literature-l	В-	2.70	3	8.10		
ENGL-2105	Introduction to ELT	A-	3.70	3	11.10		
ENGL-2104	Classical Poetry (from Chaucer to Pope)	C+	2.30	3	6.90		
ENGL-2108	Classical and Elizabethan Drama	C+	2.30	3	6.90		
ENGL-2101	Introduction to Linguistics	A-	3.70	3	11.10		
		SGPA	3.00	CGPA	3.16		

1. Program Status:

(None / Warning / Probation / Separation / Internship / Withdrawal from the Program) Incomplete

2. Total Credit Hours to complete the program: 135

- 3. Credit Hours completed so far: 52 4 years
- 4. Duration of the Program:

7. University reserves the right to correct any inadvertent error.

Date of issue: 14 May 2024

- 1. Please check your Name and Father's Name including spellings and report to the Examination Department in case of any error.
- Discrepancies if any, are to be reported within 7 days of issue of this document.
 This is a computer generated report and does not need any signature. University reserves the right to correct any inadvertent error.

Spring 2023	Spring 2023						
Course Code	Course Title	Grade	Grade Point	Credit Hours	GPA Earned		
ISLS-1112/ETI	0slannû c Studies/ Ethics	A-	3.70	2	7.40		
ENGL-1119	Communication Skills	В	3.00	3	9.00		
MATH-1112	Mathematic-II	В	3.00	3	9.00		
PAKS-1122	International Relations	C+	2.30	3	6.90		
ENSC-1101	Introduction to Environmental Sciences	В	3.00	3	9.00		
PHED-1110	Trauma and Rehabilitation	A-	3.70	3	11.10		
		SGPA	3.08	CGPA	3.24		



Abu Dhabi Road, Rahim Yar Khan

Tel: +92-68-9239122 Fax: +92-68-9239121 www.kfueit.edu.pk **RESULT INTIMATION** Program: BS English



Registration No. GCWAHUSS221101019

Date of Birth: 2004-09-17

Name: ANISHA ARSHAD Father's Name: MUHAMMAD ARSHAD LATE

Institute: Govt. Graduate College for Women, Rahim Yar Khan

FALL 2022						[
Course Code	Course Title	Grade	Grade Point	Credit Hours	GPA Earned	
SSCI-1111	Introduction to Sociology	A-	3.70	3	11.10	
PAKS-1113	Pakistan Studies	C+	2.30	2	4.60	Γ
ENGL-1101	Study skills	B+	3.30	3	9.90	
COSC-1105	Introduction to ICT	В-	2.70	2	5.40	
COSC-1205	Introduction to ICT-Lab	A-	3.70	1	3.70	
ENGL-1118	Functional English	В-	2.70	3	8.10	
MATH-1111	Mathematics-I	С	2.00	3	6.00	1
		SGPA	2.87	CGPA	2.87	╷┠

Fall 2023	Fall 2023						
Course Code	Course Title	Grade	Grade Point	Credit Hours	GPA Earned		
ENGL-2111	Technical Writing & Presentation Skills	В	3.00	3	9.00		
ENGL-2109	History of English Literature-l	С	2.00	3	6.00		
ENGL-2105	Introduction to ELT	A-	3.70	3	11.10		
ENGL-2104	Classical Poetry (from Chaucer to Pope)	C+	2.30	3	6.90		
ENGL-2108	Classical and Elizabethan Drama	В	3.00	3	9.00		
ENGL-2101	Introduction to Linguistics	A-	3.70	3	11.10		
		SGPA	2.95	CGPA	2.96		

1. Program Status:

(None / Warning / Probation / Separation / Internship / Withdrawal from the Program) Incomplete

2. Total Credit Hours to complete the program: 135

- 3. Credit Hours completed so far: 52 4 years
- 4. Duration of the Program:

7. University reserves the right to correct any inadvertent error.

Date of issue: 14 May 2024

- 1. Please check your Name and Father's Name including spellings and report to the Examination Department in case of any error.
- Discrepancies if any, are to be reported within 7 days of issue of this document.
 This is a computer generated report and does not need any signature. University reserves the right to correct any inadvertent error.

Spring 2023						
Course Code	Course Title	Grade	Grade Point	Credit Hours	GPA Earned	
ISLS-1112/ET	0s/ann2c Studies/ Ethics	В	3.00	2	6.00	
ENGL-1119	Communication Skills	В	3.00	3	9.00	
MATH-1112	Mathematic-II	A-	3.70	3	11.10	
PAKS-1122	International Relations	В-	2.70	3	8.10	
ENSC-1101	Introduction to Environmental Sciences	С	2.00	3	6.00	
PHED-1110	Trauma and Rehabilitation	A	4.00	3	12.00	
		SGPA	3.07	CGPA	2.97	



Abu Dhabi Road, Rahim Yar Khan

Tel: +92-68-9239122 Fax: +92-68-9239121 www.kfueit.edu.pk **RESULT INTIMATION** Program: BS English



Registration No. GCWAHUSS221101020 Date of Birth: 2003-10-30

Name: AREEBA KANWAL Father's Name: MUHAMMAD KHALID Institute: Govt. Graduate College for Women, Rahim Yar Khan

FALL 2022	FALL 2022						
Course Code	Course Title	Grade	Grade Point	Credit Hours	GPA Earned		
SSCI-1111	Introduction to Sociology	B+	3.30	3	9.90		
PAKS-1113	Pakistan Studies	В-	2.70	2	5.40		
ENGL-1101	Study skills	A-	3.70	3	11.10		
COSC-1105	Introduction to ICT	C+	2.30	2	4.60		
COSC-1205	Introduction to ICT-Lab	A-	3.70	1	3.70		
ENGL-1118	Functional English	В-	2.70	3	8.10		
MATH-1111	Mathematics-I	D	1.00	3	3.00		
		SGPA	2.69	CGPA	2.69		

Academic Deficiency:

1. Program Status:

2. Total Credit Hours to complete the program: 135

- 3. Credit Hours completed so far:
- 4. Duration of the Program:

7. University reserves the right to correct any inadvertent error.

Date of issue: 14 May 2024

Notes

Incomplete

17

4 years

Please check your Name and Father's Name including spellings and report to the Examination Department in case of any error.
 Discrepancies if any, are to be reported within 7 days of issue of this document.
 This is a computer generated report and does not need any signature. University reserves the right to correct any inadvertent error.

(None / Warning / Probation / Separation / Internship / Withdrawal from the Program)



Abu Dhabi Road, Rahim Yar Khan

Tel: +92-68-9239122 Fax: +92-68-9239121 www.kfueit.edu.pk **RESULT INTIMATION** Program: BS English



Registration No. GCWAHUSS221101021

Date of Birth: 2005-08-06

Name: UKASHA GILLANI Father's Name: SYED MUHAMMAD HASSAN

Institute: Govt. Graduate College for Women, Rahim Yar Khan

FALL 2022	FALL 2022					
Course Code	Course Title	Grade	Grade Point	Credit Hours	GPA Earned	
SSCI-1111	Introduction to Sociology	A-	3.70	3	11.10	
PAKS-1113	Pakistan Studies	C+	2.30	2	4.60	
ENGL-1101	Study skills	B+	3.30	3	9.90	
COSC-1105	Introduction to ICT	B+	3.30	2	6.60	
COSC-1205	Introduction to ICT-Lab	A	4.00	1	4.00	
ENGL-1118	Functional English	C+	2.30	3	6.90	
MATH-1111	Mathematics-I	В	3.00	3	9.00	
		SGPA	3.06	CGPA	3.06	

Fall 2023	Fall 2023						
Course Code	Course Title	Grade	Grade Point	Credit Hours	GPA Earned		
ENGL-2111	Technical Writing & Presentation Skills	B-	2.70	3	8.10		
ENGL-2109	History of English Literature-l	C+	2.30	3	6.90		
ENGL-2105	Introduction to ELT	B+	3.30	3	9.90		
ENGL-2104	Classical Poetry (from Chaucer to Pope)	C+	2.30	3	6.90		
ENGL-2108	Classical and Elizabethan Drama	В-	2.70	3	8.10		
ENGL-2101	Introduction to Linguistics	A	4.00	3	12.00		
		SGPA	2.88	CGPA	2.85		

Academic Deficiency:

1. Program Status:

(None / Warning / Probation / Separation / Internship / Withdrawal from the Program) Incomplete

2. Total Credit Hours to complete the program:

- 135 3. Credit Hours completed so far: 52 4 years
- 4. Duration of the Program:

7. University reserves the right to correct any inadvertent error.

Date of issue: 14 May 2024

- 1. Please check your Name and Father's Name including spellings and report to the Examination Department in case of any error.
- Discrepancies if any, are to be reported within 7 days of issue of this document.
 This is a computer generated report and does not need any signature. University reserves the right to correct any inadvertent error.

Spring 2023						
Course Code	Course Title	Grade	Grade Point	Credit Hours	GPA Earned	
ISLS-1112/ETI	0slann 2c Studies/ Ethics	A-	3.70	2	7.40	
ENGL-1119	Communication Skills	В	3.00	3	9.00	
MATH-1112	Mathematic-II	D+	1.30	3	3.90	
PAKS-1122	International Relations	C-	1.70	3	5.10	
ENSC-1101	Introduction to Environmental Sciences	C+	2.30	3	6.90	
PHED-1110	Trauma and Rehabilitation	A	4.00	3	12.00	
		SGPA	2.61	CGPA	2.84	



Abu Dhabi Road, Rahim Yar Khan

Tel: +92-68-9239122 Fax: +92-68-9239121 www.kfueit.edu.pk **RESULT INTIMATION** Program: BS English



Registration No. GCWAHUSS221101022

Date of Birth: 2004-12-09

Name: AMNA ASLAM Father's Name: MUHAMMAD ASLAM

Institute: Govt. Graduate College for Women, Rahim Yar Khan

FALL 2022		FALL 2022					
Course Code	Course Title	Grade	Grade Point	Credit Hours	GPA Earned		
SSCI-1111	Introduction to Sociology	A-	3.70	3	11.10		
PAKS-1113	Pakistan Studies	B+	3.30	2	6.60		
ENGL-1101	Study skills	A-	3.70	3	11.10		
COSC-1105	Introduction to ICT	A-	3.70	2	7.40		
COSC-1205	Introduction to ICT-Lab	A	4.00	1	4.00		
ENGL-1118	Functional English	В	3.00	3	9.00		
MATH-1111	Mathematics-I	С	2.00	3	6.00		
		SGPA	3.25	CGPA	3.25		

Fall 2023	Fall 2023						
Course Code	Course Title	Grade	Grade Point	Credit Hours	GPA Earned		
ENGL-2111	Technical Writing & Presentation Skills	A-	3.70	3	11.10		
ENGL-2109	History of English Literature-l	С	2.00	3	6.00		
ENGL-2105	Introduction to ELT	A-	3.70	3	11.10		
ENGL-2104	Classical Poetry (from Chaucer to Pope)	С	2.00	3	6.00		
ENGL-2108	Classical and Elizabethan Drama	В-	2.70	3	8.10		
ENGL-2101	Introduction to Linguistics	A-	3.70	3	11.10		
		SGPA	2.97	CGPA	3.06		

Academic Deficiency:

1. Program Status:

(None / Warning / Probation / Separation / Internship / Withdrawal from the Program) Incomplete

2. Total Credit Hours to complete the program: 135

- 3. Credit Hours completed so far: 52 4 years
- 4. Duration of the Program:

7. University reserves the right to correct any inadvertent error.

Date of issue: 14 May 2024

- 1. Please check your Name and Father's Name including spellings and report to the Examination Department in case of any error.
- Discrepancies if any, are to be reported within 7 days of issue of this document.
 This is a computer generated report and does not need any signature. University reserves the right to correct any inadvertent error.

Spring 2023	Spring 2023						
Course Code	Course Title	Grade	Grade Point	Credit Hours	GPA Earned		
ISLS-1112/ET	0slant2 c Studies/ Ethics	B+	3.30	2	6.60		
ENGL-1119	Communication Skills	B+	3.30	3	9.90		
MATH-1112	Mathematic-II	С	2.00	3	6.00		
PAKS-1122	International Relations	B-	2.70	3	8.10		
ENSC-1101	Introduction to Environmental Sciences	В	3.00	3	9.00		
PHED-1110	Trauma and Rehabilitation	A-	3.70	3	11.10		
		SGPA	2.98	CGPA	3.11		



Abu Dhabi Road, Rahim Yar Khan

Tel: +92-68-9239122 Fax: +92-68-9239121 www.kfueit.edu.pk **RESULT INTIMATION** Program: BS English



Registration No. GCWAHUSS221101023

Date of Birth: 2005-01-01

Name: RABAIL NAWAZ Father's Name: MUHAMMAD NAWAZ

Institute: Govt. Graduate College for Women, Rahim Yar Khan

FALL 2022						
Course Code	Course Title	Grade	Grade Point	Credit Hours	GPA Earned	
SSCI-1111	Introduction to Sociology	В	3.00	3	9.00	
PAKS-1113	Pakistan Studies	В	3.00	2	6.00	
ENGL-1101	Study skills	A	4.00	3	12.00	
COSC-1105	Introduction to ICT	В-	2.70	2	5.40	
COSC-1205	Introduction to ICT-Lab	A	4.00	1	4.00	
ENGL-1118	Functional English	C+	2.30	3	6.90	
MATH-1111	Mathematics-I	B+	3.30	3	9.90	
		SGPA	3.13	CGPA	3.13	

Fall 2023	Fall 2023						
Course Code	Course Title	Grade	Grade Point	Credit Hours	GPA Earned		
ENGL-2111	Technical Writing & Presentation Skills	B+	3.30	3	9.90		
ENGL-2109	History of English Literature-l	С	2.00	3	6.00		
ENGL-2105	Introduction to ELT	A-	3.70	3	11.10		
ENGL-2104	Classical Poetry (from Chaucer to Pope)	В	3.00	3	9.00		
ENGL-2108	Classical and Elizabethan Drama	В	3.00	3	9.00		
ENGL-2101	Introduction to Linguistics	A-	3.70	3	11.10		
		SGPA	3.12	CGPA	3.07		

1. Program Status:

(None / Warning / Probation / Separation / Internship / Withdrawal from the Program) Incomplete

2. Total Credit Hours to complete the program: 135

- 3. Credit Hours completed so far: 52 4 years
- 4. Duration of the Program:

7. University reserves the right to correct any inadvertent error.

Date of issue: 14 May 2024

- 1. Please check your Name and Father's Name including spellings and report to the Examination Department in case of any error.
- Discrepancies if any, are to be reported within 7 days of issue of this document.
 This is a computer generated report and does not need any signature. University reserves the right to correct any inadvertent error.

Spring 2023	Spring 2023						
Course Code	Course Title	Grade	Grade Point	Credit Hours	GPA Earned		
ISLS-1112/ETI	0slann 2c Studies/ Ethics	В	3.00	2	6.00		
ENGL-1119	Communication Skills	В	3.00	3	9.00		
MATH-1112	Mathematic-II	B+	3.30	3	9.90		
PAKS-1122	International Relations	С	2.00	3	6.00		
ENSC-1101	Introduction to Environmental Sciences	В-	2.70	3	8.10		
PHED-1110	Trauma and Rehabilitation	A-	3.70	3	11.10		
		SGPA	2.95	CGPA	3.04		



Abu Dhabi Road, Rahim Yar Khan

Tel: +92-68-9239122 Fax: +92-68-9239121 www.kfueit.edu.pk **RESULT INTIMATION** Program: BS English



Registration No. GCWAHUSS221101024

Date of Birth: 2003-02-17

Name: SHIFA FATIMA Father's Name: MUHAMMAD ASHRAF

Institute: Govt. Graduate College for Women, Rahim Yar Khan

FALL 2022					
Course Code	Course Title	Grade	Grade Point	Credit Hours	GPA Earned
SSCI-1111	Introduction to Sociology	В	3.00	3	9.00
PAKS-1113	Pakistan Studies	В-	2.70	2	5.40
ENGL-1101	Study skills	В	3.00	3	9.00
COSC-1105	Introduction to ICT	С	2.00	2	4.00
COSC-1205	Introduction to ICT-Lab	A	4.00	1	4.00
ENGL-1118	Functional English	C+	2.30	3	6.90
MATH-1111	Mathematics-I	D+	1.30	3	3.90
	•	SGPA	2.48	CGPA	2.48

Fall 2023	Fall 2023						
Course Code	Course Title	Grade	Grade Point	Credit Hours	GPA Earned		
ENGL-2111	Technical Writing & Presentation Skills	B+	3.30	3	9.90		
ENGL-2109	History of English Literature-l	В	3.00	3	9.00		
ENGL-2105	Introduction to ELT	A-	3.70	3	11.10		
ENGL-2104	Classical Poetry (from Chaucer to Pope)	В	3.00	3	9.00		
ENGL-2108	Classical and Elizabethan Drama	В-	2.70	3	8.10		
ENGL-2101	Introduction to Linguistics	A-	3.70	3	11.10		
		SGPA	3.23	CGPA	2.87		

Academic Deficiency:

1. Program Status:

(None / Warning / Probation / Separation / Internship / Withdrawal from the Program) Incomplete

2. Total Credit Hours to complete the program:

- 135 3. Credit Hours completed so far: 52 4 years
- 4. Duration of the Program:
- 7. University reserves the right to correct any inadvertent error.

Date of issue: 14 May 2024

- 1. Please check your Name and Father's Name including spellings and report to the Examination Department in case of any error.
- Discrepancies if any, are to be reported within 7 days of issue of this document.
 This is a computer generated report and does not need any signature. University reserves the right to correct any inadvertent error.

Spring 2023						
Course Code	Course Title	Grade	Grade Point	Credit Hours	GPA Earned	
ISLS-1112/ET	0s/ann2c Studies/ Ethics	A-	3.70	2	7.40	
ENGL-1119	Communication Skills	A-	3.70	3	11.10	
MATH-1112	Mathematic-II	B-	2.70	3	8.10	
PAKS-1122	International Relations	C-	1.70	3	5.10	
ENSC-1101	Introduction to Environmental Sciences	С	2.00	3	6.00	
PHED-1110	Trauma and Rehabilitation	A-	3.70	3	11.10	
		SGPA	2.87	CGPA	2.68	



Abu Dhabi Road, Rahim Yar Khan

Tel: +92-68-9239122 Fax: +92-68-9239121 www.kfueit.edu.pk **RESULT INTIMATION** Program: BS English



Registration No. GCWAHUSS221101025

Date of Birth: 2005-07-12

Name: AREEBA SHAHID Father's Name: MUHAMMAD SHAHID MEHMOOD

Institute: Govt. Graduate College for Women, Rahim Yar Khan

FALL 2022					
Course Code	Course Title	Grade	Grade Point	Credit Hours	GPA Earned
SSCI-1111	Introduction to Sociology	A-	3.70	3	11.10
PAKS-1113	Pakistan Studies	А	4.00	2	8.00
ENGL-1101	Study skills	A	4.00	3	12.00
COSC-1105	Introduction to ICT	В	3.00	2	6.00
COSC-1205	Introduction to ICT-Lab	A	4.00	1	4.00
ENGL-1118	Functional English	B+	3.30	3	9.90
MATH-1111	Mathematics-I	A-	3.70	3	11.10
		SGPA	3.65	CGPA	3.65

Fall 2023						
Course Code	Course Title	Grade	Grade Point	Credit Hours	GPA Earned	
ENGL-2111	Technical Writing & Presentation Skills	B+	3.30	3	9.90	
ENGL-2109	History of English Literature-l	B+	3.30	3	9.90	
ENGL-2105	Introduction to ELT	A	4.00	3	12.00	
ENGL-2104	Classical Poetry (from Chaucer to Pope)	В-	2.70	3	8.10	
ENGL-2108	Classical and Elizabethan Drama	A-	3.70	3	11.10	
ENGL-2101	Introduction to Linguistics	A	4.00	3	12.00	
		SGPA	3.50	CGPA	3.43	

Academic Deficiency:	
1. Program Status:	

(None / Warning / Probation / Separation / Internship / Withdrawal from the Program) Incomplete

2. Total Credit Hours to complete the program: 135

- 3. Credit Hours completed so far: 52 4 years
- 4. Duration of the Program:

7. University reserves the right to correct any inadvertent error.

Date of issue: 14 May 2024

- 1. Please check your Name and Father's Name including spellings and report to the Examination Department in case of any error.
- Discrepancies if any, are to be reported within 7 days of issue of this document.
 This is a computer generated report and does not need any signature. University reserves the right to correct any inadvertent error.

Spring 2023						
Course Code	Course Title	Grade	Grade Point	Credit Hours	GPA Earned	
ISLS-1112/ET	0slant2 c Studies/ Ethics	B+	3.30	2	6.60	
ENGL-1119	Communication Skills	В	3.00	3	9.00	
MATH-1112	Mathematic-II	B+	3.30	3	9.90	
PAKS-1122	International Relations	В	3.00	3	9.00	
ENSC-1101	Introduction to Environmental Sciences	C+	2.30	3	6.90	
PHED-1110	Trauma and Rehabilitation	A	4.00	3	12.00	
		SGPA	3.14	CGPA	3.40	



Abu Dhabi Road, Rahim Yar Khan

Tel: +92-68-9239122 Fax: +92-68-9239121 www.kfueit.edu.pk **RESULT INTIMATION** Program: BS English



Registration No. GCWAHUSS221101026

Date of Birth: 2005-09-05

Name: AROOSA JAHANGIR Father's Name: MUHAMMAD JAHANGIR NASHTAR

Institute: Govt. Graduate College for Women, Rahim Yar Khan

FALL 2022					
Course Code	Course Title	Grade	Grade Point	Credit Hours	GPA Earned
SSCI-1111	Introduction to Sociology	A-	3.70	3	11.10
PAKS-1113	Pakistan Studies	С	2.00	2	4.00
ENGL-1101	Study skills	B+	3.30	3	9.90
COSC-1105	Introduction to ICT	C+	2.30	2	4.60
COSC-1205	Introduction to ICT-Lab	A	4.00	1	4.00
ENGL-1118	Functional English	B+	3.30	3	9.90
MATH-1111	Mathematics-I	C+	2.30	3	6.90
		SGPA	2.96	CGPA	2.96

Fall 2023	Fall 2023						
Course Code	Course Title	Grade	Grade Point	Credit Hours	GPA Earned		
ENGL-2111	Technical Writing & Presentation Skills	В	3.00	3	9.00		
ENGL-2109	History of English Literature-l	C+	2.30	3	6.90		
ENGL-2105	Introduction to ELT	A-	3.70	3	11.10		
ENGL-2104	Classical Poetry (from Chaucer to Pope)	В-	2.70	3	8.10		
ENGL-2108	Classical and Elizabethan Drama	В	3.00	3	9.00		
ENGL-2101	Introduction to Linguistics	A-	3.70	3	11.10		
		SGPA	3.07	CGPA	3.00		

1. Program Status:

(None / Warning / Probation / Separation / Internship / Withdrawal from the Program) Incomplete

2. Total Credit Hours to complete the program: 135

- 3. Credit Hours completed so far: 52 4 years
- 4. Duration of the Program:

7. University reserves the right to correct any inadvertent error.

Date of issue: 14 May 2024

- 1. Please check your Name and Father's Name including spellings and report to the Examination Department in case of any error.
- Discrepancies if any, are to be reported within 7 days of issue of this document.
 This is a computer generated report and does not need any signature. University reserves the right to correct any inadvertent error.

Spring 2023						
Course Code	Course Title	Grade	Grade Point	Credit Hours	GPA Earned	
ISLS-1112/ET	0silannû c Studies/ Ethics	C+	2.30	2	4.60	
ENGL-1119	Communication Skills	A-	3.70	3	11.10	
MATH-1112	Mathematic-II	C+	2.30	3	6.90	
PAKS-1122	International Relations	C+	2.30	3	6.90	
ENSC-1101	Introduction to Environmental Sciences	В	3.00	3	9.00	
PHED-1110	Trauma and Rehabilitation	A	4.00	3	12.00	
		SGPA	2.97	CGPA	2.97	



Abu Dhabi Road, Rahim Yar Khan

Tel: +92-68-9239122 Fax: +92-68-9239121 www.kfueit.edu.pk **RESULT INTIMATION** Program: BS English



Registration No. GCWAHUSS221101027

Date of Birth: 2006-03-25

Name: AYESHA KHAN Father's Name: MUHAMMAD TARIQ KHAN

Institute: Govt. Graduate College for Women, Rahim Yar Khan

FALL 2022						
Course Code	Course Title	Grade	Grade Point	Credit Hours	GPA Earned	
SSCI-1111	Introduction to Sociology	A	4.00	3	12.00	
PAKS-1113	Pakistan Studies	A-	3.70	2	7.40	
ENGL-1101	Study skills	A	4.00	3	12.00	
COSC-1105	Introduction to ICT	A-	3.70	2	7.40	
COSC-1205	Introduction to ICT-Lab	A	4.00	1	4.00	
ENGL-1118	Functional English	В	3.00	3	9.00	
MATH-1111	Mathematics-I	B+	3.30	3	9.90	
	•	SGPA	3.63	CGPA	3.63	

Fall 2023	Fall 2023						
Course Code	Course Title	Grade	Grade Point	Credit Hours	GPA Earned		
ENGL-2111	Technical Writing & Presentation Skills	A-	3.70	3	11.10		
ENGL-2109	History of English Literature-l	B+	3.30	3	9.90		
ENGL-2105	Introduction to ELT	A-	3.70	3	11.10		
ENGL-2104	Classical Poetry (from Chaucer to Pope)	B+	3.30	3	9.90		
ENGL-2108	Classical and Elizabethan Drama	B+	3.30	3	9.90		
ENGL-2101	Introduction to Linguistics	A	4.00	3	12.00		
		SGPA	3.55	CGPA	3.56		

1. Program Status:

(None / Warning / Probation / Separation / Internship / Withdrawal from the Program) Incomplete

2. Total Credit Hours to complete the program:

- 135 3. Credit Hours completed so far: 52 4 years
- 4. Duration of the Program:

7. University reserves the right to correct any inadvertent error.

Date of issue: 14 May 2024

- 1. Please check your Name and Father's Name including spellings and report to the Examination Department in case of any error.
- Discrepancies if any, are to be reported within 7 days of issue of this document.
 This is a computer generated report and does not need any signature. University reserves the right to correct any inadvertent error.

Spring 2023					
Course Code	Course Title	Grade	Grade Point	Credit Hours	GPA Earned
ISLS-1112/ETI	0slann 2c Studies/ Ethics	A-	3.70	2	7.40
ENGL-1119	Communication Skills	A-	3.70	3	11.10
MATH-1112	Mathematic-II	А	4.00	3	12.00
PAKS-1122	International Relations	В	3.00	3	9.00
ENSC-1101	Introduction to Environmental Sciences	В	3.00	3	9.00
PHED-1110	Trauma and Rehabilitation	A-	3.70	3	11.10
		SGPA	3.51	CGPA	3.57



Abu Dhabi Road, Rahim Yar Khan

Tel: +92-68-9239122 Fax: +92-68-9239121 www.kfueit.edu.pk **RESULT INTIMATION** Program: BS English



Registration No. GCWAHUSS221101028

Date of Birth: 2004-01-12

Name: UNEESA HASSAAN Father's Name: MUHAMMAD HASSAAN

Institute: Govt. Graduate College for Women, Rahim Yar Khan

FALL 2022					
Course Code	Course Title	Grade	Grade Point	Credit Hours	GPA Earned
SSCI-1111	Introduction to Sociology	B+	3.30	3	9.90
PAKS-1113	Pakistan Studies	В	3.00	2	6.00
ENGL-1101	Study skills	A	4.00	3	12.00
COSC-1105	Introduction to ICT	B+	3.30	2	6.60
COSC-1205	Introduction to ICT-Lab	A-	3.70	1	3.70
ENGL-1118	Functional English	B-	2.70	3	8.10
MATH-1111	Mathematics-I	D	1.00	3	3.00
	•	SGPA	2.90	CGPA	2.90

Fall 2023					
Course Code	Course Title	Grade	Grade Point	Credit Hours	GPA Earned
ENGL-2111	Technical Writing & Presentation Skills	F	0.00	3	0.00
ENGL-2109	History of English Literature-l	F	0.00	3	0.00
ENGL-2105	Introduction to ELT	F	0.00	3	0.00
ENGL-2104	Classical Poetry (from Chaucer to Pope)	F	0.00	3	0.00
ENGL-2108	Classical and Elizabethan Drama	F	0.00	3	0.00
ENGL-2101	Introduction to Linguistics	F	0.00	3	0.00
		SGPA	0.00	CGPA	1.77

Academic Deficiency:

1. Program Status:

(None / Warning / Probation / Separation / Internship / Withdrawal from the Program) Incomplete

2. Total Credit Hours to complete the program: 135

- 3. Credit Hours completed so far: 31 4 years
- 4. Duration of the Program:

7. University reserves the right to correct any inadvertent error.

Date of issue: 14 May 2024

- 1. Please check your Name and Father's Name including spellings and report to the Examination Department in case of any error.
- Discrepancies if any, are to be reported within 7 days of issue of this document.
 This is a computer generated report and does not need any signature. University reserves the right to correct any inadvertent error.

Spring 2023					
Course Code	Course Title	Grade	Grade Point	Credit Hours	GPA Earned
ISLS-1112/ET	0sílannû c Studies/ Ethics	B+	3.30	2	6.60
ENGL-1119	Communication Skills	В	3.00	3	9.00
MATH-1112	Mathematic-II	F	0.00	3	0.00
PAKS-1122	International Relations	В-	2.70	3	8.10
ENSC-1101	Introduction to Environmental Sciences	В-	2.70	3	8.10
PHED-1110	Trauma and Rehabilitation	A-	3.70	3	11.10
		SGPA	2.52	CGPA	2.71



Abu Dhabi Road, Rahim Yar Khan

Tel: +92-68-9239122 Fax: +92-68-9239121 www.kfueit.edu.pk **RESULT INTIMATION** Program: BS English



Name: KASHMALA GUL Father's Name: AHMAD HUSSAIN

Institute: Govt. Graduate College for Women, Rahim Yar Khan

FALL 2022						Spring 2023	
Course Code	Course Title	Grade	Grade Point	Credit Hours	GPA Earned	Course Code	Course Title
SSCI-1111	Introduction to Sociology	A-	3.70	3	11.10	ISLS-1112/ET	Osliainn2ic Studi Ethics
PAKS-1113	Pakistan Studies	A-	3.70	2	7.40	ENGL-1119	Communicat
ENGL-1101	Study skills	A-	3.70	3	11.10		Skills
COSC-1105	Introduction to ICT	B+	3.30	2	6.60	MATH-1112	Mathematic-
			0.00	-	0.00	PAKS-1122	International
COSC-1205	Introduction to	А	4.00	1	4.00		Relations
	ICT-Lab					ENSC-1101	Introduction
ENGL-1118	Functional English	B+	3.30	3	9.90		Environment Sciences
MATH-1111	Mathematics-I	C+	2.30	3	6.90	PHED-1110	Trauma and Rehabilitatio
		SGPA	3.35	CGPA	3.35		1

Fall 2023	Fall 2023				
Course Code	Course Title	Grade	Grade Point	Credit Hours	GPA Earned
ENGL-2111	Technical Writing & Presentation Skills	В	3.00	3	9.00
ENGL-2109	History of English Literature-I	В-	2.70	3	8.10
ENGL-2105	Introduction to ELT	A-	3.70	3	11.10
ENGL-2104	Classical Poetry (from Chaucer to Pope)	B+	3.30	3	9.90
ENGL-2108	Classical and Elizabethan Drama	В-	2.70	3	8.10
ENGL-2101	Introduction to Linguistics	A	4.00	3	12.00
		SGPA	3.23	CGPA	3.27

Academic	Deficiency:

1. Program Status:

(None / Warning / Probation / Separation / Internship / Withdrawal from the Program) Incomplete

2. Total Credit Hours to complete the program:

- 135 3. Credit Hours completed so far: 52 4 years
- 4. Duration of the Program:

7. University reserves the right to correct any inadvertent error.

Date of issue: 14 May 2024

Notes

- 1. Please check your Name and Father's Name including spellings and report to the Examination Department in case of any error.
- Discrepancies if any, are to be reported within 7 days of issue of this document.
 This is a computer generated report and does not need any signature. University reserves the right to correct any inadvertent error.

Registration No. GCWAHUSS221101029 Date of Birth: 2005-01-01

3

3

3

3

3

CGPA

Credit Hours GPA Earned

7.40

11.10

8.10

8.10

9.00

11.10

3.29

Grade Grade Point

3.70

3.70

2.70

2.70

3.00

3.70

SGPA 3.22

A٠

A-

B-

B-

В

A٠

0s/manh2c Studies/

Communication

Mathematic-II

Introduction to

Environmental Sciences

Rehabilitation

Page '	1 of	1	
raye			



Abu Dhabi Road, Rahim Yar Khan

Tel: +92-68-9239122 Fax: +92-68-9239121 www.kfueit.edu.pk **RESULT INTIMATION** Program: BS English



Registration No. GCWAHUSS221101030

Date of Birth: 2003-12-01

Name: ALEENA AMEEN Father's Name: MUHAMMAD AMEEN

Institute: Govt. Graduate College for Women, Rahim Yar Khan

FALL 2022						
Course Code	Course Title	Grade	Grade Point	Credit Hours	GPA Earned	
SSCI-1111	Introduction to Sociology	B+	3.30	3	9.90	
PAKS-1113	Pakistan Studies	С	2.00	2	4.00	
ENGL-1101	Study skills	A-	3.70	3	11.10	
COSC-1105	Introduction to ICT	A	4.00	2	8.00	
COSC-1205	Introduction to ICT-Lab	A	4.00	1	4.00	
ENGL-1118	Functional English	В	3.00	3	9.00	
MATH-1111	Mathematics-I	А	4.00	3	12.00	
		SGPA	3.41	CGPA	3.41	

Fall 2023						
Course Code	Course Title	Grade	Grade Point	Credit Hours	GPA Earned	
ENGL-2111	Technical Writing & Presentation Skills	В-	2.70	3	8.10	
ENGL-2109	History of English Literature-l	C+	2.30	3	6.90	
ENGL-2105	Introduction to ELT	В-	2.70	3	8.10	
ENGL-2104	Classical Poetry (from Chaucer to Pope)	С	2.00	3	6.00	
ENGL-2108	Classical and Elizabethan Drama	С	2.00	3	6.00	
ENGL-2101	Introduction to Linguistics	B+	3.30	3	9.90	
		SGPA	2.50	CGPA	2.97	

1. Program Status:

(None / Warning / Probation / Separation / Internship / Withdrawal from the Program) Incomplete

2. Total Credit Hours to complete the program: 135

- 3. Credit Hours completed so far: 52 4 years
- 4. Duration of the Program:

7. University reserves the right to correct any inadvertent error.

Date of issue: 14 May 2024

- 1. Please check your Name and Father's Name including spellings and report to the Examination Department in case of any error.
- Discrepancies if any, are to be reported within 7 days of issue of this document.
 This is a computer generated report and does not need any signature. University reserves the right to correct any inadvertent error.

Spring 2023					
Course Code	Course Title	Grade	Grade Point	Credit Hours	GPA Earned
ISLS-1112/ETI	0slannû c Studies/ Ethics	B+	3.30	2	6.60
ENGL-1119	Communication Skills	В	3.00	3	9.00
MATH-1112	Mathematic-II	A-	3.70	3	11.10
PAKS-1122	International Relations	С	2.00	3	6.00
ENSC-1101	Introduction to Environmental Sciences	C+	2.30	3	6.90
PHED-1110	Trauma and Rehabilitation	A	4.00	3	12.00
		SGPA	3.04	CGPA	3.22



Name: SEHRISH

Khwaja Fareed University of Engineering & Information Technology

Abu Dhabi Road, Rahim Yar Khan

Tel: +92-68-9239122 Fax: +92-68-9239121 www.kfueit.edu.pk **RESULT INTIMATION** Program: BS English



Registration No. GCWAHUSS221101031 Date of Birth: 2002-02-24

3

3

3

3

3

CGPA

Credit Hours GPA Earned

2.60

9.90

3 90

6.00

6.00

6.90

2.08

Grade Grade Point

1.30

3.30

1.30

2.00

2.00

2.30

SGPA 2.08

D+

B+

D+

С

С

C+

0shann12c Studies/

Communication

Mathematic-II

Introduction to

Environmental Sciences

Rehabilitation

Father's Name: ARSHAD MURAD

Institute: Govt. Graduate College for Women, Rahim Yar Khan

FALL 2022						Spring 2023	
Course Code	Course Title	Grade	Grade Point	Credit Hours	GPA Earned	Course Code	Course Title
SSCI-1111	Introduction to Sociology	B+	3.30	3	9.90	ISLS-1112/ETI	00s∦amln2c Stud Ethics
PAKS-1113	Pakistan Studies	D+	1.30	2	2.60	ENGL-1119	Communica
ENGL-1101	Study skills	В-	2.70	3	8.10		Skills
COSC-1105	Introduction to ICT	C	2.00	2	4.00	MATH-1112	Mathematic-
0000 1100		Ũ	2.00	-	1.00	PAKS-1122	Internationa
COSC-1205	Introduction to	A	4.00	1	4.00		Relations
	ICT-Lab					ENSC-1101	Introduction
ENGL-1118	Functional English	C+	2.30	3	6.90		Environment Sciences
MATH-1111	Mathematics-I	F	0.00	3	0.00	PHED-1110	Trauma and Rehabilitatio
		SGPA	2.09	CGPA	2.09		ι

Fall 2023					
Course Code	Course Title	Grade	Grade Point	Credit Hours	GPA Earned
ENGL-2111	Technical Writing & Presentation Skills	B-	2.70	3	8.10
ENGL-2109	History of English Literature-l	D	1.00	3	3.00
ENGL-2105	Introduction to ELT	В-	2.70	3	8.10
ENGL-2104	Classical Poetry (from Chaucer to Pope)	C-	1.70	3	5.10
ENGL-2108	Classical and Elizabethan Drama	В-	2.70	3	8.10
ENGL-2101	Introduction to Linguistics	В-	2.70	3	8.10
		SGPA	2.25	CGPA	2.14

Academic Deficiency: **1. Program Status:**

(None / Warning / Probation / Separation / Internship / Withdrawal from the Program) Incomplete

2. Total Credit Hours to complete the program: 135

- 3. Credit Hours completed so far: 49 4 years
- 4. Duration of the Program:

7. University reserves the right to correct any inadvertent error.

Date of issue: 14 May 2024

- 1. Please check your Name and Father's Name including spellings and report to the Examination Department in case of any error.
- Discrepancies if any, are to be reported within 7 days of issue of this document.
 This is a computer generated report and does not need any signature. University reserves the right to correct any inadvertent error.

Page	1	of	1



Abu Dhabi Road, Rahim Yar Khan

Tel: +92-68-9239122 Fax: +92-68-9239121 www.kfueit.edu.pk **RESULT INTIMATION** Program: BS English



Registration No. GCWAHUSS221101032

Date of Birth: 2002-05-26

Name: IFRAH AFZAL Father's Name: MUHAMMAD AFZAL

Institute: Govt. Graduate College for Women, Rahim Yar Khan

FALL 2022	FALL 2022						
Course Code	Course Title	Grade	Grade Point	Credit Hours	GPA Earned		
SSCI-1111	Introduction to Sociology	A	4.00	3	12.00		
PAKS-1113	Pakistan Studies	C-	1.70	2	3.40		
ENGL-1101	Study skills	A	4.00	3	12.00		
COSC-1105	Introduction to ICT	В-	2.70	2	5.40	ŀ	
COSC-1205	Introduction to ICT-Lab	A	4.00	1	4.00		
ENGL-1118	Functional English	B+	3.30	3	9.90		
MATH-1111	Mathematics-I	B+	3.30	3	9.90		
		SGPA	3.33	CGPA	3.33		

Spring 2023					
Course Code	Course Title	Grade	Grade Point	Credit Hours	GPA Earned
ISLS-1112/ET	Oshanh2 c Studies/ Ethics	A-	3.70	2	7.40
ENGL-1119	Communication Skills	В	3.00	3	9.00
MATH-1112	Mathematic-II	В	3.00	3	9.00
PAKS-1122	International Relations	C+	2.30	3	6.90
ENSC-1101	Introduction to Environmental Sciences	В	3.00	3	9.00
PHED-1110	Trauma and Rehabilitation	A-	3.70	3	11.10
	•	SGPA	3.08	CGPA	3.21

Fall 2023					
Course Code	Course Title	Grade	Grade Point	Credit Hours	GPA Earned
ENGL-2111	Technical Writing & Presentation Skills	В	3.00	3	9.00
ENGL-2109	History of English Literature-I	D+	1.30	3	3.90
ENGL-2105	Introduction to ELT	A-	3.70	3	11.10
ENGL-2104	Classical Poetry (from Chaucer to Pope)	D	1.00	3	3.00
ENGL-2108	Classical and Elizabethan Drama	C+	2.30	3	6.90
ENGL-2101	Introduction to Linguistics	B+	3.30	3	9.90
		SGPA	2.43	CGPA	2.94

Academic Deficiency:

1. Program Status:

(None / Warning / Probation / Separation / Internship / Withdrawal from the Program) Incomplete

2. Total Credit Hours to complete the program: 135

- 3. Credit Hours completed so far: 52 4 years
- 4. Duration of the Program:

7. University reserves the right to correct any inadvertent error.

Date of issue: 14 May 2024

- 1. Please check your Name and Father's Name including spellings and report to the Examination Department in case of any error.
- Discrepancies if any, are to be reported within 7 days of issue of this document.
 This is a computer generated report and does not need any signature. University reserves the right to correct any inadvertent error.



Abu Dhabi Road, Rahim Yar Khan

Tel: +92-68-9239122 Fax: +92-68-9239121 www.kfueit.edu.pk **RESULT INTIMATION** Program: BS English



Registration No. GCWAHUSS221101033

Grade Grade Point Credit Hours GPA Earned

2

3.70

A٠

Date of Birth: 2002-01-12

7.40

9.90 6.00 6.00 6.90

11.10 2.96

Name: ANSA Father's Name: MUHAMMAD SHAFIQUE

Institute: Govt. Graduate College for Women, Rahim Yar Khan

FALL 2022						Spring 2023		
Course Code	Course Title	Grade	Grade Point	Credit Hours	GPA Earned	Course Code	Course Title	
SSCI-1111	Introduction to Sociology	A-	3.70	3	11.10	ISLS-1112/ET	0os∦admnn2c Studies∕ Ethics	
PAKS-1113	Pakistan Studies	C+	2.30	2	4.60	ENGL-1119	Communication	
ENGL-1101	Study skills	A-	3.70	3	11.10		Skills	
COSC-1105	Introduction to ICT	B-	2.70	2	5.40	MATH-1112 N	Mathematic-II	
0000 1100			2.70	2	0.40	PAKS-1122	International Relations	
COSC-1205	Introduction to	А	4.00	1	4.00		Relations	
	ICT-Lab					ENSC-1101	Introduction to	
ENGL-1118	Functional English	В-	2.70	3	8.10		Environmental Sciences	
	Math anatina I		0.00		0.00	PHED-1110	Trauma and	
MATH-1111	Mathematics-I	В	3.00	3	9.00		Rehabilitation	
		SGPA	3.14	CGPA	3.14		•	

A	3.14		U	SGPA	2.78	CGPA
	9.00	PHED-1110	Trauma and Rehabilitation	A-	3.70	3
	8.10		Environmental Sciences		2.00	Ů
	4.00	ENSC-1101		C+	2.30	3
		PAKS-1122	International Relations	С	2.00	3
	5.40	MATH-1112	Mathematic-II	С	2.00	3
	11.10		Skills			
	4.60	ENGL-1119		B+	3.30	3
			Ethics			

Fall 2023					
Course Code	Course Title	Grade	Grade Point	Credit Hours	GPA Earned
ENGL-2111	Technical Writing & Presentation Skills	В	3.00	3	9.00
ENGL-2109	History of English Literature-I	С	2.00	3	6.00
ENGL-2105	Introduction to ELT	A-	3.70	3	11.10
ENGL-2104	Classical Poetry (from Chaucer to Pope)	C-	1.70	3	5.10
ENGL-2108	Classical and Elizabethan Drama	С	2.00	3	6.00
ENGL-2101	Introduction to Linguistics	A	4.00	3	12.00
		SGPA	2.73	CGPA	2.88

Academic Deficiency:

1. Program Status:

(None / Warning / Probation / Separation / Internship / Withdrawal from the Program) Incomplete

2. Total Credit Hours to complete the program:

- 3. Credit Hours completed so far: 52 4 years
- 4. Duration of the Program:

7. University reserves the right to correct any inadvertent error.

Date of issue: 14 May 2024

Notes

- 1. Please check your Name and Father's Name including spellings and report to the Examination Department in case of any error.
- 2. Discrepancies if any, are to be reported within 7 days of issue of this document.

135

3. This is a computer generated report and does not need any signature. University reserves the right to correct any inadvertent error.



Abu Dhabi Road, Rahim Yar Khan

Tel: +92-68-9239122 Fax: +92-68-9239121 www.kfueit.edu.pk **RESULT INTIMATION** Program: BS English



Registration No. GCWAHUSS221101034

Date of Birth: 2003-08-11

Name: KAINAT AJMAL Father's Name: MUHAMMAD AJMAL

Institute: Govt. Graduate College for Women, Rahim Yar Khan

FALL 2022						
Course Code	Course Title	Grade	Grade Point	Credit Hours	GPA Earned	
SSCI-1111	Introduction to Sociology	A	4.00	3	12.00	
PAKS-1113	Pakistan Studies	A-	3.70	2	7.40	
ENGL-1101	Study skills	A	4.00	3	12.00	
COSC-1105	Introduction to ICT	A-	3.70	2	7.40	
COSC-1205	Introduction to ICT-Lab	A	4.00	1	4.00	
ENGL-1118	Functional English	B+	3.30	3	9.90	
MATH-1111	Mathematics-I	C+	2.30	3	6.90	
		SGPA	3.51	CGPA	3.51	

Fall 2023	Fall 2023							
Course Code	Course Title	Grade	Grade Point	Credit Hours	GPA Earned			
ENGL-2111	Technical Writing & Presentation Skills	B+	3.30	3	9.90			
ENGL-2109	History of English Literature-l	В	3.00	3	9.00			
ENGL-2105	Introduction to ELT	A-	3.70	3	11.10			
ENGL-2104	Classical Poetry (from Chaucer to Pope)	C+	2.30	3	6.90			
ENGL-2108	Classical and Elizabethan Drama	В	3.00	3	9.00			
ENGL-2101	Introduction to Linguistics	A	4.00	3	12.00			
		SGPA	3.22	CGPA	3.34			

1. Program Status:

(None / Warning / Probation / Separation / Internship / Withdrawal from the Program) Incomplete

2. Total Credit Hours to complete the program: 135

- 3. Credit Hours completed so far: 52 4 years
- 4. Duration of the Program:

7. University reserves the right to correct any inadvertent error.

Date of issue: 14 May 2024

- 1. Please check your Name and Father's Name including spellings and report to the Examination Department in case of any error.
- Discrepancies if any, are to be reported within 7 days of issue of this document.
 This is a computer generated report and does not need any signature. University reserves the right to correct any inadvertent error.

٦	Spring 2023								
1	Course Code	Course Title	Grade	Grade Point	Credit Hours	GPA Earned			
	PHED-1110	Trauma and Rehabilitation	A	4.00	3	12.00			
	ISLS-1112/ETI	0slanh2 c Studies/ Ethics	A	4.00	2	8.00			
1	ENGL-1119	Communication Skills	B+	3.30	3	9.90			
┥	MATH-1112	Mathematic-II	B-	2.70	3	8.10			
	PAKS-1122	International Relations	B+	3.30	3	9.90			
	ENSC-1101	Introduction to Environmental Sciences	В-	2.70	3	8.10			
			SGPA	3.29	CGPA	3.40			



Abu Dhabi Road, Rahim Yar Khan

Tel: +92-68-9239122 Fax: +92-68-9239121 www.kfueit.edu.pk **RESULT INTIMATION** Program: BS English



Registration No. GCWAHUSS221101035

Date of Birth: 2003-08-26

Name: AYESHA BANO Father's Name: GHULAM YASEEN

Institute: Govt. Graduate College for Women, Rahim Yar Khan

FALL 2022					
Course Code	Course Title	Grade	Grade Point	Credit Hours	GPA Earned
SSCI-1111	Introduction to Sociology	A-	3.70	3	11.10
PAKS-1113	Pakistan Studies	B+	3.30	2	6.60
ENGL-1101	Study skills	A-	3.70	3	11.10
COSC-1105	Introduction to ICT	B+	3.30	2	6.60
COSC-1205	Introduction to ICT-Lab	A	4.00	1	4.00
ENGL-1118	Functional English	В	3.00	3	9.00
MATH-1111	Mathematics-I	D	1.00	3	3.00
		SGPA	3.02	CGPA	3.02

Fall 2023	Fall 2023							
Course Code	Course Title	Grade	Grade Point	Credit Hours	GPA Earned			
ENGL-2111	Technical Writing & Presentation Skills	B-	2.70	3	8.10			
ENGL-2109	History of English Literature-l	C+	2.30	3	6.90			
ENGL-2105	Introduction to ELT	B+	3.30	3	9.90			
ENGL-2104	Classical Poetry (from Chaucer to Pope)	D	1.00	3	3.00			
ENGL-2108	Classical and Elizabethan Drama	В-	2.70	3	8.10			
ENGL-2101	Introduction to Linguistics	A-	3.70	3	11.10			
		SGPA	2.62	CGPA	2.75			

1. Program Status:

(None / Warning / Probation / Separation / Internship / Withdrawal from the Program) Incomplete

2. Total Credit Hours to complete the program:

- 135 3. Credit Hours completed so far: 52 4 years
- 4. Duration of the Program:

7. University reserves the right to correct any inadvertent error.

Date of issue: 14 May 2024

- 1. Please check your Name and Father's Name including spellings and report to the Examination Department in case of any error.
- Discrepancies if any, are to be reported within 7 days of issue of this document.
 This is a computer generated report and does not need any signature. University reserves the right to correct any inadvertent error.

Spring 2023							
Course Code	Course Title	Grade	Grade Point	Credit Hours	GPA Earned		
ISLS-1112/ET	0slan12 c Studies/ Ethics	В-	2.70	2	5.40		
ENGL-1119	Communication Skills	В	3.00	3	9.00		
MATH-1112	Mathematic-II	D+	1.30	3	3.90		
PAKS-1122	International Relations	C+	2.30	3	6.90		
ENSC-1101	Introduction to Environmental Sciences	В-	2.70	3	8.10		
PHED-1110	Trauma and Rehabilitation	A-	3.70	3	11.10		
		SGPA	2.61	CGPA	2.82		



Abu Dhabi Road, Rahim Yar Khan

Tel: +92-68-9239122 Fax: +92-68-9239121 www.kfueit.edu.pk **RESULT INTIMATION** Program: BS English



Registration No. GCWAHUSS221101036

Date of Birth: 2006-01-07

Name: SUMREEN GULL Father's Name: GULFARAZ KHAN

Institute: Govt. Graduate College for Women, Rahim Yar Khan

FALL 2022					
Course Code	Course Title	Grade	Grade Point	Credit Hours	GPA Earned
SSCI-1111	Introduction to Sociology	A-	3.70	3	11.10
PAKS-1113	Pakistan Studies	В-	2.70	2	5.40
ENGL-1101	Study skills	A-	3.70	3	11.10
COSC-1105	Introduction to ICT	С	2.00	2	4.00
COSC-1205	Introduction to ICT-Lab	B+	3.30	1	3.30
ENGL-1118	Functional English	B+	3.30	3	9.90
MATH-1111	Mathematics-I	В	3.00	3	9.00
	•	SGPA	3.16	CGPA	3.16

Fall 2023	Fall 2023						
Course Code	Course Title	Grade	Grade Point	Credit Hours	GPA Earned		
ENGL-2111	Technical Writing & Presentation Skills	A-	3.70	3	11.10		
ENGL-2109	History of English Literature-I	B+	3.30	3	9.90		
ENGL-2105	Introduction to ELT	A-	3.70	3	11.10		
ENGL-2104	Classical Poetry (from Chaucer to Pope)	В-	2.70	3	8.10		
ENGL-2108	Classical and Elizabethan Drama	В	3.00	3	9.00		
ENGL-2101	Introduction to Linguistics	A-	3.70	3	11.10		
		SGPA	3.35	CGPA	3.30		

Academic Deficiency:	
1. Program Status:	

(None / Warning / Probation / Separation / Internship / Withdrawal from the Program) Incomplete

2. Total Credit Hours to complete the program: 135

- 3. Credit Hours completed so far: 52 4 years
- 4. Duration of the Program:

7. University reserves the right to correct any inadvertent error.

Date of issue: 14 May 2024

- 1. Please check your Name and Father's Name including spellings and report to the Examination Department in case of any error.
- Discrepancies if any, are to be reported within 7 days of issue of this document.
 This is a computer generated report and does not need any signature. University reserves the right to correct any inadvertent error.

	Spring 2023									
d	Course Code	Course Title	Grade	Grade Point	Credit Hours	GPA Earned				
	PHED-1110	Trauma and Rehabilitation	A	4.00	3	12.00				
	ISLS-1112/ETI	0slanh2 c Studies/ Ethics	B+	3.30	2	6.60				
	ENGL-1119	Communication Skills	A-	3.70	3	11.10				
-	MATH-1112	Mathematic-II	B+	3.30	3	9.90				
	PAKS-1122	International Relations	В	3.00	3	9.00				
	ENSC-1101	Introduction to Environmental Sciences	В	3.00	3	9.00				
			SGPA	3.39	CGPA	3.28				



Abu Dhabi Road, Rahim Yar Khan

Tel: +92-68-9239122 Fax: +92-68-9239121 www.kfueit.edu.pk **RESULT INTIMATION** Program: BS English



Registration No. GCWAHUSS221101037 Date of Birth: 2002-12-23

Name: SAWERA HAFEEZ Father's Name: HAFEEZ AHMED

Institute: Govt. Graduate College for Women, Rahim Yar Khan

FALL 2022					
Course Code	Course Title	Grade	Grade Point	Credit Hours	GPA Earned
SSCI-1111	Introduction to Sociology	F	0.00	3	0.00
PAKS-1113	Pakistan Studies	F	0.00	2	0.00
ENGL-1101	Study skills	F	0.00	3	0.00
COSC-1105	Introduction to ICT	F	0.00	2	0.00
COSC-1205	Introduction to ICT-Lab	F	0.00	1	0.00
ENGL-1118	Functional English	F	0.00	3	0.00
MATH-1111	Mathematics-I	F	0.00	3	0.00
		SGPA	0.00	CGPA	0.00

Academic Deficiency:

1. Program Status:

2. Total Credit Hours to complete the program:

3. Credit Hours completed so far:

4. Duration of the Program:

7. University reserves the right to correct any inadvertent error.

Date of issue: 14 May 2024

Notes

- Please check your Name and Father's Name including spellings and report to the Examination Department in case of any error.
 Discrepancies if any, are to be reported within 7 days of issue of this document.
 This is a computer generated report and does not need any signature. University reserves the right to correct any inadvertent error.

Incomplete

135

4 years

0

(None / Warning / Probation / Separation / Internship / Withdrawal from the Program)



Name: RABBIA ABDUL QADIR

Khwaja Fareed University of Engineering & Information Technology

Abu Dhabi Road, Rahim Yar Khan

Tel: +92-68-9239122 Fax: +92-68-9239121 www.kfueit.edu.pk **RESULT INTIMATION** Program: BS English

Spring 2023

ISLS-1112/ET

Course Code Course Title

Ethics

Skills

0shann12c Studies/

Communication

Mathematic-II

International

Introduction to

Environmental Sciences

Trauma and

Rehabilitation

Relations



Registration No. GCWAHUSS221101038 Date of Birth: 2004-05-20

3

3

3

3

3

CGPA

Credit Hours GPA Earned

7.40

12.00

9 90

11.10

11.10

12.00

3.68

Grade Grade Point

3.70

4.00

3 30

3.70

3.70

4.00

SGPA 3.74

A٠

А

B+

A-

A-

А

Father's Name: ABDUL QADIR Institute: Govt. Graduate College for Women, Rahim Yar Khan

FALL 2022						Spring 2023
Course Code	Course Title	Grade	Grade Point	Credit Hours	GPA Earned	Course Code
SSCI-1111	Introduction to Sociology	A	4.00	3	12.00	ISLS-1112/E
PAKS-1113	Pakistan Studies	A-	3.70	2	7.40	ENGL-1119
ENGL-1101	Study skills	A	4.00	3	12.00	
COSC-1105	Introduction to ICT	A-	3.70	2	7.40	MATH-1112
				_		PAKS-1122
COSC-1205	Introduction to	А	4.00	1	4.00	
	ICT-Lab					ENSC-1101
ENGL-1118	Functional English	B+	3.30	3	9.90	
			0.00		0.00	PHED-1110
MATH-1111	Mathematics-I	В	3.00	3	9.00	
		SGPA	3.63	CGPA	3.63	

Fall 2023					
Course Code	Course Title	Grade	Grade Point	Credit Hours	GPA Earned
ENGL-2111	Technical Writing & Presentation Skills	A-	3.70	3	11.10
ENGL-2109	History of English Literature-l	B+	3.30	3	9.90
ENGL-2105	Introduction to ELT	A	4.00	3	12.00
ENGL-2104	Classical Poetry (from Chaucer to Pope)	A-	3.70	3	11.10
ENGL-2108	Classical and Elizabethan Drama	A-	3.70	3	11.10
ENGL-2101	Introduction to Linguistics	A	4.00	3	12.00
		SGPA	3.73	CGPA	3.70

Academic Deficiency:
1. Program Status:

(None / Warning / Probation / Separation / Internship / Withdrawal from the Program) Incomplete

2. Total Credit Hours to complete the program: 135

- 3. Credit Hours completed so far: 52 4 years
- 4. Duration of the Program:
- 7. University reserves the right to correct any inadvertent error.

Date of issue: 14 May 2024

- 1. Please check your Name and Father's Name including spellings and report to the Examination Department in case of any error.
- 2. Discrepancies if any, are to be reported within 7 days of issue of this document.
- 3. This is a computer generated report and does not need any signature. University reserves the right to correct any inadvertent error.

_			
Page	1	∩†	1
ugo		01	



Abu Dhabi Road, Rahim Yar Khan

Tel: +92-68-9239122 Fax: +92-68-9239121 www.kfueit.edu.pk **RESULT INTIMATION** Program: BS English



Date of Birth: 2005-07-12

Registration No. GCWAHUSS221101039

Name: AYESHA FAROOQ Father's Name: FAROOQ AHMAD

Institute: Govt. Graduate College for Women, Rahim Yar Khan

FALL 2022						Spring 2023					
Course Code	Course Title	Grade	Grade Point	Credit Hours	GPA Earned	Course Code	Course Title	Grade	Grade Point	Credit Hours	GPA Earned
SSCI-1111	Introduction to Sociology	B+	3.30	3	9.90	ISLS-1112/ET	0slanto c Studies/ Ethics	A	4.00	2	8.00
PAKS-1113	Pakistan Studies	В-	2.70	2	5.40	ENGL-1119	Communication	A	4.00	3	12.00
ENGL-1101	Study skills	A	4.00	3	12.00		Skills				
COSC-1105	Introduction to ICT	B+	3.30	2	6.60	MATH-1112	Mathematic-II	B-	2.70	3	8.10
0000-1103		DT	5.50	2	0.00	PAKS-1122	International	В-	2.70	3	8.10
COSC-1205	Introduction to	A-	3.70	1	3.70		Relations				
	ICT-Lab					ENSC-1101	Introduction to	в	3.00	3	9.00
ENGL-1118	Functional English	В-	2.70	3	8.10		Environmental Sciences				
	•• ••					PHED-1110	Trauma and	A-	3.70	3	11.10
MATH-1111	Mathematics-I	A	4.00	3	12.00		Rehabilitation				
		SGPA	3.39	CGPA	3.39		L	SGPA	3.31	CGPA	3.35

Academic Deficiency:

1. Program Status:

2. Total Credit Hours to complete the program:

- 3. Credit Hours completed so far:
- 4. Duration of the Program:

7. University reserves the right to correct any inadvertent error.

Date of issue: 14 May 2024

Notes

- Please check your Name and Father's Name including spellings and report to the Examination Department in case of any error.
 Discrepancies if any, are to be reported within 7 days of issue of this document.
 This is a computer generated report and does not need any signature. University reserves the right to correct any inadvertent error.

34

4 years

(None / Warning / Probation / Separation / Internship / Withdrawal from the Program) Incomplete 135



Abu Dhabi Road, Rahim Yar Khan

Tel: +92-68-9239122 Fax: +92-68-9239121 www.kfueit.edu.pk **RESULT INTIMATION** Program: BS English



Registration No. GCWAHUSS221101040

Date of Birth: 2002-10-20

Name: NAGINA AKBAR ALI Father's Name: MUHAMMAD AKBAR

Institute: Govt. Graduate College for Women, Rahim Yar Khan

FALL 2022					
Course Code	Course Title	Grade	Grade Point	Credit Hours	GPA Earned
SSCI-1111	Introduction to Sociology	A-	3.70	3	11.10
PAKS-1113	Pakistan Studies	B+	3.30	2	6.60
ENGL-1101	Study skills	A-	3.70	3	11.10
COSC-1105	Introduction to ICT	В	3.00	2	6.00
COSC-1205	Introduction to ICT-Lab	A	4.00	1	4.00
ENGL-1118	Functional English	В	3.00	3	9.00
MATH-1111	Mathematics-I	В	3.00	3	9.00
	•	SGPA	3.34	CGPA	3.34

MATH-1111	Mathematics-I	В	3.00	3	9.00
		SGPA	3.34	CGPA	3.34
Fall 2023					
Course Code	Course Title	Grade	Grade Point	Credit Hours	GPA Earned
ENGL-2111	Technical Writing & Presentation Skills	A-	3.70	3	11.10
ENGL-2109	History of English Literature-I	C+	2.30	3	6.90
ENGL-2105	Introduction to ELT	A-	3.70	3	11.10
ENGL-2104	Classical Poetry (from Chaucer to Pope)	В-	2.70	3	8.10
ENGL-2108	Classical and Elizabethan Drama	В-	2.70	3	8.10
ENGL-2101	Introduction to Linguistics	A	4.00	3	12.00

CGPA

3.12

Spring 2023					
Course Code	Course Title	Grade	Grade Point	Credit Hours	GPA Earned
ISLS-1112/ETI	0slantû c Studies/ Ethics	A	4.00	2	8.00
ENGL-1119	Communication Skills	A-	3.70	3	11.10
MATH-1112	Mathematic-II	F	0.00	3	0.00
PAKS-1122	International Relations	В-	2.70	3	8.10
ENSC-1101	Introduction to Environmental Sciences	В	3.00	3	9.00
PHED-1110	Trauma and Rehabilitation	A	4.00	3	12.00
		SGPA	2.84	CGPA	3.09

Academic Deficiency:

1. Program Status:

(None / Warning / Probation / Separation / Internship / Withdrawal from the Program) Incomplete

2. Total Credit Hours to complete the program: 135

- 3. Credit Hours completed so far: 49 4 years
- 4. Duration of the Program:
- 7. University reserves the right to correct any inadvertent error.

SGPA

3.18

Date of issue: 14 May 2024

- 1. Please check your Name and Father's Name including spellings and report to the Examination Department in case of any error.
- Discrepancies if any, are to be reported within 7 days of issue of this document.
 This is a computer generated report and does not need any signature. University reserves the right to correct any inadvertent error.



Abu Dhabi Road, Rahim Yar Khan

Tel: +92-68-9239122 Fax: +92-68-9239121 www.kfueit.edu.pk **RESULT INTIMATION** Program: BS English



Date of Birth: 2002-07-25

Registration No. GCWAHUSS221101041

Name: QUNDEEL ASHRAF Father's Name: ASHRAF MASEEH

Institute: Govt. Graduate College for Women, Rahim Yar Khan

FALL 2022						Spring 2023
Course Code	Course Title	Grade	Grade Point	Credit Hours	GPA Earned	Course Code
SSCI-1111	Introduction to Sociology	A-	3.70	3	11.10	ISLS-1112/ETI
PAKS-1113	Pakistan Studies	В-	2.70	2	5.40	ENGL-1119
ENGL-1101	Study skills	B+	3.30	3	9.90	
COSC-1105	Introduction to ICT	С	2.00	2	4.00	MATH-1112
		-		_		PAKS-1122
COSC-1205	Introduction to	A-	3.70	1	3.70	
	ICT-Lab					ENSC-1101
ENGL-1118	Functional English	В-	2.70	3	8.10	
						PHED-1110
MATH-1111	Mathematics-I	F	0.00	3	0.00	
		SGPA	2.48	CGPA	2.48	

		SGPA	2.48	CGPA	2.48				
Fall 2023									
Course Code	Course Title	Grade	Grade Point	Credit Hours	GPA Earned				
ENGL-2111	Technical Writing & Presentation Skills	В	3.00	3	9.00				
ENGL-2109	History of English Literature-I	C+	2.30	3	6.90				
ENGL-2105	Introduction to ELT	B+	3.30	3	9.90				
ENGL-2104	Classical Poetry (from Chaucer to Pope)	С	2.00	3	6.00				
ENGL-2108	Classical and Elizabethan Drama	C+	2.30	3	6.90				
ENGL-2101	Introduction to Linguistics	В-	2.70	3	8.10				
		SGPA	2.60	CGPA	2.49				

1. Program Status:

(None / Warning / Probation / Separation / Internship / Withdrawal from the Program) Incomplete

2. Total Credit Hours to complete the program: 135

- 3. Credit Hours completed so far: 49 4 years
- 4. Duration of the Program:

7. University reserves the right to correct any inadvertent error.

Date of issue: 14 May 2024

- 1. Please check your Name and Father's Name including spellings and report to the Examination Department in case of any error.
- Discrepancies if any, are to be reported within 7 days of issue of this document.
 This is a computer generated report and does not need any signature. University reserves the right to correct any inadvertent error.

	Spring 2023								
ned	Course Code	Course Title	Grade	Grade Point	Credit Hours	GPA Earned			
	ISLS-1112/ETI	0slantû c Studies/ Ethics	В-	2.70	2	5.40			
	ENGL-1119	Communication Skills	В	3.00	3	9.00			
	MATH-1112	Mathematic-II	D+	1.30	3	3.90			
	PAKS-1122	International Relations	C-	1.70	3	5.10			
_	ENSC-1101	Introduction to Environmental Sciences	С	2.00	3	6.00			
	PHED-1110	Trauma and Rehabilitation	A-	3.70	3	11.10			
			SGPA	2.38	CGPA	2.43			



Abu Dhabi Road, Rahim Yar Khan

Tel: +92-68-9239122 Fax: +92-68-9239121 www.kfueit.edu.pk **RESULT INTIMATION** Program: BS English



Registration No. GCWAHUSS221101042 Date of Birth: 2002-09-17

CGPA

3.37

Name: KHIZRA IMTIAZ Father's Name: IMTIAZ AHMAD

Institute: Govt. Graduate College for Women, Rahim Yar Khan

FALL 2022	FALL 2022						
Course Code	Course Title	Grade	Grade Point	Credit Hours	GPA Earned		
SSCI-1111	Introduction to Sociology	A	4.00	3	12.00		
PAKS-1113	Pakistan Studies	В	3.00	2	6.00		
ENGL-1101	Study skills	A	4.00	3	12.00		
COSC-1105	Introduction to ICT	C+	2.30	2	4.60		
COSC-1205	Introduction to ICT-Lab	A	4.00	1	4.00		
ENGL-1118	Functional English	B+	3.30	3	9.90		
MATH-1111	Mathematics-I	A	4.00	3	12.00		
		SGPA	3.56	CGPA	3.56		

Fall 2023						
Course Code	Course Title	Grade	Grade Point	Credit Hours	GPA Earned	
ENGL-2111	Technical Writing & Presentation Skills	A-	3.70	3	11.10	
ENGL-2109	History of English Literature-l	С	2.00	3	6.00	
ENGL-2105	Introduction to ELT	A-	3.70	3	11.10	
ENGL-2104	Classical Poetry (from Chaucer to Pope)	A-	3.70	3	11.10	
ENGL-2108	Classical and Elizabethan Drama	A-	3.70	3	11.10	
ENGL-2101	Introduction to Linguistics	A	4.00	3	12.00	
		SGPA	3.47	CGPA	3.40	

Academic	Deficiency:
Acaacinic	Denerciery

1. Program Status:

(None / Warning / Probation / Separation / Internship / Withdrawal from the Program) Incomplete

2. Total Credit Hours to complete the program: 135

- 3. Credit Hours completed so far: 52 4 years
- 4. Duration of the Program:

7. University reserves the right to correct any inadvertent error.

Date of issue: 14 May 2024

Notes

- 1. Please check your Name and Father's Name including spellings and report to the Examination Department in case of any error.
- Discrepancies if any, are to be reported within 7 days of issue of this document.
 This is a computer generated report and does not need any signature. University reserves the right to correct any inadvertent error.

Page	1	of	1	

Spring 2023						
Course Code	Course Title	Grade	Grade Point	Credit Hours	GPA Earned	
ISLS-1112/ET	0s/lan1o2c Studies/ Ethics	В	3.00	2	6.00	
ENGL-1119	Communication Skills	A-	3.70	3	11.10	
MATH-1112	Mathematic-II	B+	3.30	3	9.90	
PAKS-1122	International Relations	C+	2.30	3	6.90	
ENSC-1101	Introduction to Environmental Sciences	В	3.00	3	9.00	
PHED-1110	Trauma and Rehabilitation	A-	3.70	3	11.10	

SGPA 3.18



Abu Dhabi Road, Rahim Yar Khan

Tel: +92-68-9239122 Fax: +92-68-9239121 www.kfueit.edu.pk **RESULT INTIMATION** Program: BS English



Registration No. GCWAHUSS221101043

Date of Birth: 2004-05-06

Name: KHADIJAH IRUM Father's Name: MUHAMMAD BOOTA Institute: Govt. Graduate College for Women, Rahim Yar Khan

FALL 2022 Grade Point Credit Hours GPA Earned Course Code **Course Title** Grade SSCI-1111 Introduction to 12.00 A 4.00 Sociology PAKS-1113 **Pakistan Studies** B+ 3.30 2 6.60 12.00 ENGL-1101 Study skills A 4.00 3 COSC-1105 Introduction to ICT A-3.70 2 7.40 COSC-1205 Introduction to A 4.00 1 4.00 ICT-Lab ENGL-1118 **Functional English** в 3.00 3 9.00 MATH-1111 Mathematics-I A-3.70 3 11.10

> SGPA 3.65

CGPA

3.65

Fall 2023					
Course Code	Course Title	Grade	Grade Point	Credit Hours	GPA Earned
ENGL-2111	Technical Writing & Presentation Skills	A-	3.70	3	11.10
ENGL-2109	History of English Literature-l	A-	3.70	3	11.10
ENGL-2105	Introduction to ELT	A	4.00	3	12.00
ENGL-2104	Classical Poetry (from Chaucer to Pope)	В	3.00	3	9.00
ENGL-2108	Classical and Elizabethan Drama	A	4.00	3	12.00
ENGL-2101	Introduction to Linguistics	A	4.00	3	12.00
		SGPA	3.73	CGPA	3.64

1. Program Status:

(None / Warning / Probation / Separation / Internship / Withdrawal from the Program) Incomplete

2. Total Credit Hours to complete the program: 135

- 3. Credit Hours completed so far: 52 4 years
- 4. Duration of the Program:

7. University reserves the right to correct any inadvertent error.

Date of issue: 14 May 2024

- 1. Please check your Name and Father's Name including spellings and report to the Examination Department in case of any error.
- Discrepancies if any, are to be reported within 7 days of issue of this document.
 This is a computer generated report and does not need any signature. University reserves the right to correct any inadvertent error.

Spring 2023						
Course Code	Course Title	Grade	Grade Point	Credit Hours	GPA Earned	
ISLS-1112/ETI	0slann 2c Studies/ Ethics	A	4.00	2	8.00	
ENGL-1119	Communication Skills	A-	3.70	3	11.10	
MATH-1112	Mathematic-II	A-	3.70	3	11.10	
PAKS-1122	International Relations	В	3.00	3	9.00	
ENSC-1101	Introduction to Environmental Sciences	В	3.00	3	9.00	
PHED-1110	Trauma and Rehabilitation	A	4.00	3	12.00	
		SGPA	3.54	CGPA	3.60	



Abu Dhabi Road, Rahim Yar Khan

Tel: +92-68-9239122 Fax: +92-68-9239121 www.kfueit.edu.pk **RESULT INTIMATION** Program: BS English



Registration No. GCWAHUSS221101044 Date of Birth: 2005-07-14

3

2

3

3

3

3

CGPA

Credit Hours GPA Earned

12.00

7.40

9.90

9.00

6.90

6.90

3.23

Grade Grade Point

4.00

3.70

3.30

3.00

2.30

2.30

SGPA 3.06

A-

B+

в

C+

C+

Name: NADIA NAVEED Father's Name: NAVEED AHMAD

Institute: Govt. Graduate College for Women, Rahim Yar Khan

FALL 2022	LL 2022							
Course Code	Course Title	Grade	Grade Point	Credit Hours	GPA Earned		Course Code	Course Title
SSCI-1111	Introduction to Sociology	A-	3.70	3	11.10		PHED-1110	Trauma and Rehabilitation
PAKS-1113	Pakistan Studies	В	3.00	2	6.00		ISLS-1112/ETI	Oshanni2c Studies/
ENGL-1101	Study skills	A-	3.70	3	11.10			Ethics
COSC-1105	Introduction to ICT	B+	3.30	2	6.60		ENGL-1119	Communication Skills
COSC-1205	Introduction to	A	4.00	1	4.00	MATH-1112 PAKS-1122	MATH-1112	Mathematic-II
0030-1205	ICT-Lab		4.00	1	4.00		PAKS-1122	International
ENGL-1118	Functional English	B+	3.30	3	9.90			Relations
	·			-			ENSC-1101	Introduction to
MATH-1111	Mathematics-I	В	3.00	3	9.00			Environmental Sciences
		SGPA	3.39	CGPA	3.39			ι

Fall 2023						
Course Code	Course Title	Grade	Grade Point	Credit Hours	GPA Earned	
ENGL-2111	Technical Writing & Presentation Skills	A-	3.70	3	11.10	
ENGL-2109	History of English Literature-l	В	3.00	3	9.00	
ENGL-2105	Introduction to ELT	A-	3.70	3	11.10	
ENGL-2104	Classical Poetry (from Chaucer to Pope)	B+	3.30	3	9.90	
ENGL-2108	Classical and Elizabethan Drama	В	3.00	3	9.00	
ENGL-2101	Introduction to Linguistics	A	4.00	3	12.00	
		SGPA	3.45	CGPA	3.31	

Academic Deficiency:	
1. Program Status:	

(None / Warning / Probation / Separation / Internship / Withdrawal from the Program) Incomplete

2. Total Credit Hours to complete the program: 135

- 3. Credit Hours completed so far: 52 4 years
- 4. Duration of the Program:

7. University reserves the right to correct any inadvertent error.

Date of issue: 14 May 2024

- 1. Please check your Name and Father's Name including spellings and report to the Examination Department in case of any error.
- 2. Discrepancies if any, are to be reported within 7 days of issue of this document.
- 3. This is a computer generated report and does not need any signature. University reserves the right to correct any inadvertent error.

Page	1	of	1
i aye		UI.	



Abu Dhabi Road, Rahim Yar Khan

Tel: +92-68-9239122 Fax: +92-68-9239121 www.kfueit.edu.pk **RESULT INTIMATION** Program: BS English

6

Rehabilitation

ioΩshannn2c Studies/

Communication

Mathematic-II

Introduction to

Environmental Sciences



Registration No. GCWAHUSS221101045 Date of Birth: 2003-01-01

3

2

3

3

3

3

CGPA

Credit Hours GPA Earned

12.00

7.40

9.00

6.90

6.00

6.00

2.79

Grade Grade Point

4.00

3.70

3.00

2.30

2.00

2.00

SGPA 2.78

A-

в

C+

С

С

Father's Name: ASGHAR ALI Institute: Govt. Graduate College for Women, Rahim Yar Khan

FΔI	1.1	2022	

Name: RABIA ASGHAR

FALL 2022						Spring 2023		
Course Code	Course Title	Grade	Grade Point	Credit Hours	GPA Earned	Course Code	Course Title	
SSCI-1111	Introduction to Sociology	A-	3.70	3	11.10	PHED-1110	Trauma and Rehabilitatio	
PAKS-1113	Pakistan Studies	С	2.00	2	4.00	ISLS-1112/ET	TIOS Manna Stud	
ENGL-1101	Study skills	B+	3.30	3	9.90		Ethics	
COSC-1105	Introduction to ICT	С	2.00	2	4.00	ENGL-1119	Communicat Skills	
COSC-1205	Introduction to	A-	3.70	1	3.70	MATH-1112	Mathematic-	
0000-1200	ICT-Lab	<u> </u>	5.70	1	5.70	PAKS-1122	International	
ENGL-1118	Functional English	B-	2.70	3	8.10		Relations	
			-	-		ENSC-1101	Introduction	
MATH-1111	Mathematics-I	C+	2.30	3	6.90		Environment Sciences	
		SGPA	2.81	CGPA	2.81		l	

Fall 2023	Fall 2023					
Course Code	Course Title	Grade	Grade Point	Credit Hours	GPA Earned	
ENGL-2111	Technical Writing & Presentation Skills	B+	3.30	3	9.90	
ENGL-2109	History of English Literature-l	С	2.00	3	6.00	
ENGL-2105	Introduction to ELT	A-	3.70	3	11.10	
ENGL-2104	Classical Poetry (from Chaucer to Pope)	с	2.00	3	6.00	
ENGL-2108	Classical and Elizabethan Drama	В-	2.70	3	8.10	
ENGL-2101	Introduction to Linguistics	A-	3.70	3	11.10	
		SGPA	2.90	CGPA	2.83	

Academic	Deficiency:
----------	-------------

1. Program Status:

(None / Warning / Probation / Separation / Internship / Withdrawal from the Program) Incomplete

2. Total Credit Hours to complete the program: 135

- 3. Credit Hours completed so far: 52 4 years
- 4. Duration of the Program:
- 7. University reserves the right to correct any inadvertent error.

Date of issue: 14 May 2024

- 1. Please check your Name and Father's Name including spellings and report to the Examination Department in case of any error.
- 2. Discrepancies if any, are to be reported within 7 days of issue of this document.
- 3. This is a computer generated report and does not need any signature. University reserves the right to correct any inadvertent error.



Name: FIZA NOOR

Khwaja Fareed University of Engineering & Information Technology

Abu Dhabi Road, Rahim Yar Khan

Tel: +92-68-9239122 Fax: +92-68-9239121 www.kfueit.edu.pk **RESULT INTIMATION** Program: BS English



Registration No. GCWAHUSS221101046 Date of Birth: 2002-01-02

3

3

3

3

3

CGPA

Credit Hours GPA Earned

6.60

9.00

3.00

8.10

6.90

9.90

2.79

Grade Grade Point

3.30

3.00

1.00

2.70

2.30

3.30

SGPA 2.56

B+

В

D

B-

C+

B+

0shann12c Studies/

Communication

Mathematic-II

Introduction to

Environmental Sciences

Rehabilitation

Father's Name: ALI RAZA Institute: Govt. Graduate College for Women, Rahim Yar Khan

FALL 2022						Spring 2023		
Course Code	Course Title	Grade	Grade Point	Credit Hours	GPA Earned	Course Code	Course Title	
SSCI-1111	Introduction to Sociology	B+	3.30	3	9.90	ISLS-1112/ET	0os∦aannn2c Stud Ethics	
PAKS-1113	Pakistan Studies	D	1.00	2	2.00	ENGL-1119	Communicat	
ENGL-1101	Study skills	B+	3.30	3	9.90		Skills	
COSC-1105	Introduction to ICT	Δ_	3.70	2	7.40	MATH-1112	Mathematic-	
				-	_	PAKS-1122	Internationa Relations	
COSC-1205	Introduction to	A	4.00	1	4.00			
	ICT-Lab					ENSC-1101	Introduction	
ENGL-1118	Functional English	В	3.00	3	9.00		Environment Sciences	
	Math ana tina 1		0.00		0.00	PHED-1110	Trauma and	
MATH-1111	Mathematics-I	В	3.00	3	9.00		Rehabilitatio	
		SGPA	3.01	CGPA	3.01			

Fall 2023	Fall 2023					
Course Code	Course Title	Grade	Grade Point	Credit Hours	GPA Earned	
ENGL-2111	Technical Writing & Presentation Skills	В	3.00	3	9.00	
ENGL-2109	History of English Literature-l	C+	2.30	3	6.90	
ENGL-2105	Introduction to ELT	A	4.00	3	12.00	
ENGL-2104	Classical Poetry (from Chaucer to Pope)	С	2.00	3	6.00	
ENGL-2108	Classical and Elizabethan Drama	С	2.00	3	6.00	
ENGL-2101	Introduction to Linguistics	A-	3.70	3	11.10	
		SGPA	2.83	CGPA	2.80	

Academic Deficiency:	
1. Program Status:	

(None / Warning / Probation / Separation / Internship / Withdrawal from the Program) Incomplete

2. Total Credit Hours to complete the program: 135

- 3. Credit Hours completed so far: 52 4 years
- 4. Duration of the Program:

7. University reserves the right to correct any inadvertent error.

Date of issue: 14 May 2024

- 1. Please check your Name and Father's Name including spellings and report to the Examination Department in case of any error.
- Discrepancies if any, are to be reported within 7 days of issue of this document.
 This is a computer generated report and does not need any signature. University reserves the right to correct any inadvertent error.

Page	1	of	1
i ugo		<u> </u>	



Abu Dhabi Road, Rahim Yar Khan

Tel: +92-68-9239122 Fax: +92-68-9239121 www.kfueit.edu.pk **RESULT INTIMATION** Program: BS English



Registration No. GCWAHUSS221101047

Date of Birth: 2005-10-24

Name: AREEBA MASHAL Father's Name: MUSHTAQ AHMED

Institute: Govt. Graduate College for Women, Rahim Yar Khan

FALL 2022					
Course Code	Course Title	Grade	Grade Point	Credit Hours	GPA Earned
SSCI-1111	Introduction to Sociology	A-	3.70	3	11.10
PAKS-1113	Pakistan Studies	В-	2.70	2	5.40
ENGL-1101	Study skills	A-	3.70	3	11.10
COSC-1105	Introduction to ICT	C+	2.30	2	4.60
COSC-1205	Introduction to ICT-Lab	A	4.00	1	4.00
ENGL-1118	Functional English	B+	3.30	3	9.90
MATH-1111	Mathematics-I	D+	1.30	3	3.90
	•	SGPA	2.94	CGPA	2.94

Fall 2023					
Course Code	Course Title	Grade	Grade Point	Credit Hours	GPA Earned
ENGL-2111	Technical Writing & Presentation Skills	B+	3.30	3	9.90
ENGL-2109	History of English Literature-I	С	2.00	3	6.00
ENGL-2105	Introduction to ELT	B+	3.30	3	9.90
ENGL-2104	Classical Poetry (from Chaucer to Pope)	C+	2.30	3	6.90
ENGL-2108	Classical and Elizabethan Drama	C+	2.30	3	6.90
ENGL-2101	Introduction to Linguistics	A-	3.70	3	11.10
		SGPA	2.82	CGPA	2.81

1. Program Status:

(None / Warning / Probation / Separation / Internship / Withdrawal from the Program) Incomplete

2. Total Credit Hours to complete the program: 135

- 3. Credit Hours completed so far: 52 4 years
- 4. Duration of the Program:
- 7. University reserves the right to correct any inadvertent error.

Date of issue: 14 May 2024

- 1. Please check your Name and Father's Name including spellings and report to the Examination Department in case of any error.
- Discrepancies if any, are to be reported within 7 days of issue of this document.
 This is a computer generated report and does not need any signature. University reserves the right to correct any inadvertent error.

Spring 2023	Spring 2023							
Course Code	Course Title	Grade	Grade Point	Credit Hours	GPA Earned			
ISLS-1112/ET	0ຣາໄສເການ ີດ Studies/ Ethics	B+	3.30	2	6.60			
ENGL-1119	Communication Skills	A-	3.70	3	11.10			
MATH-1112	Mathematic-II	D+	1.30	3	3.90			
PAKS-1122	International Relations	С	2.00	3	6.00			
ENSC-1101	Introduction to Environmental Sciences	C+	2.30	3	6.90			
PHED-1110	Trauma and Rehabilitation	A-	3.70	3	11.10			
		SGPA	2.68	CGPA	2.81			



Name: NABILA BIBI

Khwaja Fareed University of Engineering & Information Technology

Abu Dhabi Road, Rahim Yar Khan

Tel: +92-68-9239122 Fax: +92-68-9239121 www.kfueit.edu.pk **RESULT INTIMATION** Program: BS English



Registration No. GCWAHUSS221101048 Date of Birth: 2001-06-12

3

3

3

3

3

CGPA

Credit Hours GPA Earned

7.40

11.10

6 90

9.90

9.90

12.00

3.44

Grade Grade Point

3.70

3.70

2 30

3.30

3.30

4.00

SGPA 3.36

A٠

A-

C+

B+

B+

А

0s/manh2c Studies/

Communication

Mathematic-II

Introduction to

Environmental Sciences

Rehabilitation

Father's Name: NAIMAT ALI Institute: Govt. Graduate College for Women, Rahim Yar Khan

FALL 2022						Spring 2023		
Course Code	Course Title	Grade	Grade Point	Credit Hours	GPA Earned	Course Code	Course Title	
SSCI-1111	Introduction to Sociology	A-	3.70	3	11.10	ISLS-1112/ET	00s∦amln2c Stud Ethics	
PAKS-1113	Pakistan Studies	B+	3.30	2	6.60	ENGL-1119	Communicat	
ENGL-1101	Study skills	A-	3.70	3	11.10		Skills	
COSC-1105	Introduction to ICT	в	3.00	2	6.00	MATH-1112 PAKS-1122	Mathematic-	
			0.00	-	0.00		International Relations	
COSC-1205	Introduction to	A	4.00	1	4.00			
	ICT-Lab					ENSC-1101	Introduction	
ENGL-1118	Functional English	B+	3.30	3	9.90		Environment Sciences	
			0.70		44.40	PHED-1110	Trauma and	
MATH-1111	Mathematics-I	A-	3.70	3	11.10		Rehabilitati	
		SGPA	3.52	CGPA	3.52			

Fall 2023	Fall 2023							
Course Code	Course Title	Grade	Grade Point	Credit Hours	GPA Earned			
ENGL-2111	Technical Writing & Presentation Skills	A-	3.70	3	11.10			
ENGL-2109	History of English Literature-l	B+	3.30	3	9.90			
ENGL-2105	Introduction to ELT	A-	3.70	3	11.10			
ENGL-2104	Classical Poetry (from Chaucer to Pope)	B+	3.30	3	9.90			
ENGL-2108	Classical and Elizabethan Drama	A	4.00	3	12.00			
ENGL-2101	Introduction to Linguistics	A	4.00	3	12.00			
		SGPA	3.67	CGPA	3.52			

Academic	Deficiency:
----------	-------------

1. Program Status:

(None / Warning / Probation / Separation / Internship / Withdrawal from the Program) Incomplete

2. Total Credit Hours to complete the program: 135

- 3. Credit Hours completed so far: 52 4 years
- 4. Duration of the Program:

7. University reserves the right to correct any inadvertent error.

Date of issue: 14 May 2024

- 1. Please check your Name and Father's Name including spellings and report to the Examination Department in case of any error.
- 2. Discrepancies if any, are to be reported within 7 days of issue of this document.
- 3. This is a computer generated report and does not need any signature. University reserves the right to correct any inadvertent error.

Page	1	of	1
i ago		UI.	



Abu Dhabi Road, Rahim Yar Khan

Tel: +92-68-9239122 Fax: +92-68-9239121 www.kfueit.edu.pk **RESULT INTIMATION** Program: BS English



Registration No. GCWAHUSS221101049

Date of Birth: 2004-07-18

Name: UMME HANIA Father's Name: MUHAMMAD SADDIQUE

Institute: Govt. Graduate College for Women, Rahim Yar Khan

FALL 2022							
Course Code	Course Title	Grade	Grade Point	Credit Hours	GPA Earned		
SSCI-1111	Introduction to Sociology	A-	3.70	3	11.10		
PAKS-1113	Pakistan Studies	В-	2.70	2	5.40		
ENGL-1101	Study skills	A	4.00	3	12.00		
COSC-1105	Introduction to ICT	В-	2.70	2	5.40		
COSC-1205	Introduction to ICT-Lab	A	4.00	1	4.00		
ENGL-1118	Functional English	В	3.00	3	9.00		
MATH-1111	Mathematics-I	В	3.00	3	9.00		
		SGPA	3.29	CGPA	3.29		

Spring 2023					
Course Code	Course Title	Grade	Grade Point	Credit Hours	GPA Earned
ISLS-1112/ETI	Osliainh2 c Studies/ Ethics	A-	3.70	2	7.40
ENGL-1119	Communication Skills	В	3.00	3	9.00
MATH-1112	Mathematic-II	В	3.00	3	9.00
PAKS-1122	International Relations	B-	2.70	3	8.10
ENSC-1101	Introduction to Environmental Sciences	C+	2.30	3	6.90
PHED-1110	Trauma and Rehabilitation	A-	3.70	3	11.10
		SGPA	3.03	CGPA	3.16

Fall 2023							
Course Code	Course Title	Grade	Grade Point	Credit Hours	GPA Earned		
ENGL-2111	Technical Writing & Presentation Skills	В	3.00	3	9.00		
ENGL-2109	History of English Literature-I	В-	2.70	3	8.10		
ENGL-2105	Introduction to ELT	A	4.00	3	12.00		
ENGL-2104	Classical Poetry (from Chaucer to Pope)	С	2.00	3	6.00		
ENGL-2108	Classical and Elizabethan Drama	C+	2.30	3	6.90		
ENGL-2101	Introduction to Linguistics	A	4.00	3	12.00		
		SGPA	3.00	CGPA	3.10		

Academic Deficiency: **1. Program Status:**

(None / Warning / Probation / Separation / Internship / Withdrawal from the Program) Incomplete

2. Total Credit Hours to complete the program:

- 3. Credit Hours completed so far: 52 4 years
- 4. Duration of the Program:

7. University reserves the right to correct any inadvertent error.

Date of issue: 14 May 2024

Notes

- 1. Please check your Name and Father's Name including spellings and report to the Examination Department in case of any error.

135

Discrepancies if any, are to be reported within 7 days of issue of this document.
 This is a computer generated report and does not need any signature. University reserves the right to correct any inadvertent error.



Abu Dhabi Road, Rahim Yar Khan

Tel: +92-68-9239122 Fax: +92-68-9239121 www.kfueit.edu.pk **RESULT INTIMATION** Program: BS English



Registration No. GCWAHUSS221101051

Date of Birth: 2003-05-23

Name: IRAM SABA Father's Name: MUMTAZ AHMAD

Institute: Govt. Graduate College for Women, Rahim Yar Khan

FALL 2022						Spring 2023	
Course Code	Course Title	Grade	Grade Point	Credit Hours	GPA Earned	Course Code	ſ
SSCI-1111	Introduction to Sociology	A-	3.70	3	11.10	ISLS-1112/ETI	C
PAKS-1113	Pakistan Studies	В	3.00	2	6.00	ENGL-1119	ſ
ENGL-1101	Study skills	A-	3.70	3	11.10		Ľ
COSC-1105	Introduction to ICT	A-	3.70	2	7.40	MATH-1112	L
						PAKS-1122	
COSC-1205	Introduction to	А	4.00	1	4.00		Ĺ
	ICT-Lab					ENSC-1101	l
ENGL-1118	Functional English	В	3.00	3	9.00		
N	Martha and the t		0.70		11.10	PHED-1110	ſ
MATH-1111	Mathematics-I	A-	3.70	3	11.10		l
		SGPA	3.51	CGPA	3.51		

Fall 2023									
Course Code	Course Title	Grade	Grade Point	Credit Hours	GPA Earned				
ENGL-2111	Technical Writing & Presentation Skills	B+	3.30	3	9.90				
ENGL-2109	History of English Literature-l	В	3.00	3	9.00				
ENGL-2105	Introduction to ELT	A-	3.70	3	11.10				
ENGL-2104	Classical Poetry (from Chaucer to Pope)	В-	2.70	3	8.10				
ENGL-2108	Classical and Elizabethan Drama	A-	3.70	3	11.10				
ENGL-2101	Introduction to Linguistics	A	4.00	3	12.00				
		SGPA	3.40	CGPA	3.43				

Academic Deficiency	:
1. Program Status:	

(None / Warning / Probation / Separation / Internship / Withdrawal from the Program) Incomplete

2. Total Credit Hours to complete the program:

- 135 3. Credit Hours completed so far: 52 4 years
- 4. Duration of the Program:

7. University reserves the right to correct any inadvertent error.

Date of issue: 14 May 2024

- 1. Please check your Name and Father's Name including spellings and report to the Examination Department in case of any error.
- Discrepancies if any, are to be reported within 7 days of issue of this document.
 This is a computer generated report and does not need any signature. University reserves the right to correct any inadvertent error.

]	Course Code	Course Title	Grade	Grade Point	Credit Hours	GPA Earned
	ISLS-1112/ETI	0sliain1o2c Studies/ Ethics	A-	3.70	2	7.40
	ENGL-1119	Communication Skills	A-	3.70	3	11.10
	MATH-1112	Mathematic-II	B+	3.30	3	9.90
	PAKS-1122	International Relations	В	3.00	3	9.00
	ENSC-1101	Introduction to Environmental Sciences	В-	2.70	3	8.10
	PHED-1110	Trauma and Rehabilitation	A	4.00	3	12.00
ļ			SGPA	3.38	CGPA	3.45



Abu Dhabi Road, Rahim Yar Khan

Tel: +92-68-9239122 Fax: +92-68-9239121 www.kfueit.edu.pk **RESULT INTIMATION** Program: BS English



Registration No. GCWAHUSS221101052

Date of Birth: 2003-09-26

Name: MAHRUKH MEHBOOB Father's Name: ARSHAD MEHBOOB

Institute: Govt. Graduate College for Women, Rahim Yar Khan

FALL 2022						
Course Code	Course Title	Grade	Grade Point	Credit Hours	GPA Earned	
SSCI-1111	Introduction to Sociology	A-	3.70	3	11.10	
PAKS-1113	Pakistan Studies	C+	2.30	2	4.60	
ENGL-1101	Study skills	A-	3.70	3	11.10	
COSC-1105	Introduction to ICT	B+	3.30	2	6.60	
COSC-1205	Introduction to ICT-Lab	A	4.00	1	4.00	
ENGL-1118	Functional English	B-	2.70	3	8.10	
MATH-1111	Mathematics-I	C-	1.70	3	5.10	
		SGPA	2.98	CGPA	2.98	

Fall 2023						
Course Code	Course Title	Grade	Grade Point	Credit Hours	GPA Earned	
ENGL-2111	Technical Writing & Presentation Skills	B+	3.30	3	9.90	
ENGL-2109	History of English Literature-I	C+	2.30	3	6.90	
ENGL-2105	Introduction to ELT	B+	3.30	3	9.90	
ENGL-2104	Classical Poetry (from Chaucer to Pope)	В-	2.70	3	8.10	
ENGL-2108	Classical and Elizabethan Drama	В	3.00	3	9.00	
ENGL-2101	Introduction to Linguistics	A	4.00	3	12.00	
		SGPA	3.10	CGPA	3.12	

Academic	Deficiency:	

1. Program Status:

(None / Warning / Probation / Separation / Internship / Withdrawal from the Program) Incomplete

2. Total Credit Hours to complete the program: 135

- 3. Credit Hours completed so far: 52 4 years
- 4. Duration of the Program:

7. University reserves the right to correct any inadvertent error.

Date of issue: 14 May 2024

- 1. Please check your Name and Father's Name including spellings and report to the Examination Department in case of any error.
- Discrepancies if any, are to be reported within 7 days of issue of this document.
 This is a computer generated report and does not need any signature. University reserves the right to correct any inadvertent error.

Spring 2023							
Course Code	Course Title	Grade	Grade Point	Credit Hours	GPA Earned		
ISLS-1112/ET	0slantû c Studies/ Ethics	A-	3.70	2	7.40		
ENGL-1119	Communication Skills	A-	3.70	3	11.10		
MATH-1112	Mathematic-II	B-	2.70	3	8.10		
PAKS-1122	International Relations	В	3.00	3	9.00		
ENSC-1101	Introduction to Environmental Sciences	В	3.00	3	9.00		
PHED-1110	Trauma and Rehabilitation	A-	3.70	3	11.10		
		SGPA	3.28	CGPA	3.13		



Abu Dhabi Road, Rahim Yar Khan

Tel: +92-68-9239122 Fax: +92-68-9239121 www.kfueit.edu.pk **RESULT INTIMATION** Program: BS English



Registration No. GCWAHUSS221101053

Date of Birth: 2004-07-07

Name: IRUM SHAFIQUE Father's Name: MUHAMMAD SHAFIQUE

Institute: Govt. Graduate College for Women, Rahim Yar Khan

FALL 2022					
Course Code	Course Title	Grade	Grade Point	Credit Hours	GPA Earned
SSCI-1111	Introduction to Sociology	A	4.00	3	12.00
PAKS-1113	Pakistan Studies	A-	3.70	2	7.40
ENGL-1101	Study skills	A-	3.70	3	11.10
COSC-1105	Introduction to ICT	A-	3.70	2	7.40
COSC-1205	Introduction to ICT-Lab	A	4.00	1	4.00
ENGL-1118	Functional English	В	3.00	3	9.00
MATH-1111	Mathematics-I	B+	3.30	3	9.90
		SGPA	3.58	CGPA	3.58

Fall 2023							
Course Code	Course Title	Grade	Grade Point	Credit Hours	GPA Earned		
ENGL-2111	Technical Writing & Presentation Skills	A-	3.70	3	11.10		
ENGL-2109	History of English Literature-l	A-	3.70	3	11.10		
ENGL-2105	Introduction to ELT	A	4.00	3	12.00		
ENGL-2104	Classical Poetry (from Chaucer to Pope)	В	3.00	3	9.00		
ENGL-2108	Classical and Elizabethan Drama	A-	3.70	3	11.10		
ENGL-2101	Introduction to Linguistics	A	4.00	3	12.00		
		SGPA	3.68	CGPA	3.58		

Academic Deficiency:	
1. Program Status:	

(None / Warning / Probation / Separation / Internship / Withdrawal from the Program) Incomplete

2. Total Credit Hours to complete the program: 135

- 3. Credit Hours completed so far: 52 4 years
- 4. Duration of the Program:

7. University reserves the right to correct any inadvertent error.

Date of issue: 14 May 2024

- 1. Please check your Name and Father's Name including spellings and report to the Examination Department in case of any error.
- Discrepancies if any, are to be reported within 7 days of issue of this document.
 This is a computer generated report and does not need any signature. University reserves the right to correct any inadvertent error.

Spring 2023						
Course Code	Course Title	Grade	Grade Point	Credit Hours	GPA Earned	
ISLS-1112/ET	0slantû c Studies/ Ethics	A-	3.70	2	7.40	
ENGL-1119	Communication Skills	A	4.00	3	12.00	
MATH-1112	Mathematic-II	В	3.00	3	9.00	
PAKS-1122	International Relations	B+	3.30	3	9.90	
ENSC-1101	Introduction to Environmental Sciences	В	3.00	3	9.00	
PHED-1110	Trauma and Rehabilitation	A	4.00	3	12.00	
		SGPA	3.49	CGPA	3.53	



Abu Dhabi Road, Rahim Yar Khan

Tel: +92-68-9239122 Fax: +92-68-9239121 www.kfueit.edu.pk **RESULT INTIMATION** Program: BS English



Registration No. GCWAHUSS221101054

Grade Grade Point Credit Hours

Date of Birth: 2003-03-20

GPA Earned

8.00 9.90 6.90 9.00 6.90

11.10 2.73

Name: NIMRAH GILLANI Father's Name: SYED MUHARRAM ALI SHAH

Institute: Govt. Graduate College for Women, Rahim Yar Khan

FALL 2022						Spring 2023	
Course Code	Course Title	Grade	Grade Point	Credit Hours	GPA Earned	Course Code	Course Title
SSCI-1111	Introduction to Sociology	В	3.00	3	9.00	ISLS-1112/ET	00s∦amln2c Stud Ethics
PAKS-1113	Pakistan Studies	В	3.00	2	6.00	ENGL-1119	Communicat
ENGL-1101	Study skills	A-	3.70	3	11.10		Skills
COSC-1105	Introduction to ICT	C	2.00	2	4.00	MATH-1112	Mathematic-
		Ŭ	2.00	-	1.00	PAKS-1122	Internationa Relations
COSC-1205	Introduction to	А	4.00	1	4.00		Relations
	ICT-Lab					ENSC-1101	Introduction
ENGL-1118	Functional English	C+	2.30	3	6.90		Environment Sciences
MATH-1111	Mathematics-I	F	0.00	3	0.00	PHED-1110	Trauma and Rehabilitatio
	•	SGPA	2.41	CGPA	2.41		

2.41			SGPA	3.05	CGPA
0.00	PHED-1110	Trauma and Rehabilitation	A-	3.70	3
6.90		Sciences		0.70	
1.00	ENSC-1101	Introduction to Environmental	C+	2.30	3
4.00	PAKS-1122	International Relations	В	3.00	3
4.00	MATH-1112	Mathematic-II	C+	2.30	3
6.00	ENGL-1119	Communication Skills	B+	3.30	3
9.00		Oshanni zc Studies/ Ethics	A	4.00	2

Fall 2023							
Course Code	Course Title	Grade Grade Point		Credit Hours	GPA Earned		
ENGL-2111	Technical Writing & Presentation Skills	B-	2.70	3	8.10		
ENGL-2109	History of English Literature-l	В-	2.70	3	8.10		
ENGL-2105	Introduction to ELT	В	3.00	3	9.00		
ENGL-2104	Classical Poetry (from Chaucer to Pope)	B-	2.70	3	8.10		
ENGL-2108	Classical and Elizabethan Drama	B-	2.70	3	8.10		
ENGL-2101	Introduction to Linguistics	A-	3.70	3	11.10		
		SGPA	2.92	CGPA	2.79		

Academic Deficiency:

1. Program Status:

(None / Warning / Probation / Separation / Internship / Withdrawal from the Program) Incomplete

2. Total Credit Hours to complete the program: 135

- 3. Credit Hours completed so far: 49 4 years
- 4. Duration of the Program:

7. University reserves the right to correct any inadvertent error.

Date of issue: 14 May 2024

- 1. Please check your Name and Father's Name including spellings and report to the Examination Department in case of any error.
- Discrepancies if any, are to be reported within 7 days of issue of this document.
 This is a computer generated report and does not need any signature. University reserves the right to correct any inadvertent error.